Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

B Paper : II

Roll No.

Time Allowed : 2:00 p.m. to 4:00 p.m. (2 Hours) Maximum Marks : 135

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-96 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 01:55 p.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 135 questions of 1 mark against each
question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘B’, then he/she should fill up ‘B’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘B’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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(B) 3 Tarz I wNieeq GOl g %% |

(C) 272 fToIes THo=e! 4 27 |

(D) 3T TRENe fEefes «F el SreREey|
1. F Sais @ e Afeat s sy 2

Q) ¢ FFTRIG (& G5 =12 |

B) @b P =eR @7 96 s |

(C) «ft fezartes Foao! @i &M |

(D) «fb Tfeeits w@T i I SrSRFey |
1. TEEE BN Se SIYTET QSR @HEers 1 ?

(A) T SRt femts 9ig TR

(B) forn whreff STy T8 BRI @'

(C) forn fespre @ty Aia faen

(D) Tern wdintrer frents frfrmand st iS58 forreanfer (Wildlife Sanctuary)
1. fefaf@dasnoafsus i g ¢

(A) T2 HIHUR e 7 T W 3 |

(B) I8 ISl STATANT § Teh Ueid RRIER 8 |

(C) iR suaussias |

(D) g Triie fie 1 ueh g=siia 31 § |

1. Which of the following is true about Pobitora ?
(A) It isatown in Kokrajhar district.
(B) It is a mountain peak in Karbi Anglong.
(C) Itis alake near Dibrugarh.

(D) It is a wildlife sanctuary in Morigaon district.

2. (RIS 7e1omRa (@i SqR5E AN ?

A) T AERF o1 (B) *[iZA(5 7R
(C) RN (T (D) FERCSIEE! CTg
M
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&) grH SR 6Ty (B) *RIZW(G oTg

(C) =FIERT G (D) IERNTSNE CT9
TERITE BT 96 SIS TETaTe! QIfeRe ?

(A) O BT &g (B) SEE aretl

(C) TR &g (D) hHITCTITTHRT &g
faffga @ R ATy EEA S UE B ?

(A) U BT B (B) YIgHTE 4et

(C) AR &g (D) =hIfeTETHIaRT §g
Which of the following bridges is near Guwahati ?

(A) Bhupen Hazarika Setu (B) Saraighat Bridge
(C) Naranarayan Setu (D) Koliabhomora Setu

fofere QI DR 7o T2e fooqs (@4 SRS qf ?

Q) 7z REee (B) @i RThi|
(C) +5are fRITIG (D) Slarmal FRAIEGR
forcw Srafrerm W @ eibires aRms REsiEs 7w ?

(&) TR b (B) <RIz b
(C) +oaIs REGE (D) Wl REGE
TErETE g 5 i wafmmaTtasn safggst memte ¢

(A) HIfER RrRr (B) 3maTE RRER
(C) T RrRR (D) et RReR
FrefaRed & i &1 Hiamsa fRruet (ymemTn) Tg 998 [T e 7
(A) hife free (B) amaTe fruet
(C) eust e (D) wraIGeh frgex

Which one amongst the following mobile theatre (Bhryamyaman) groups is
the oldest ?

(A) Kohinoor Theatre (B) Awahon Theatre
(C) Natraj Theatre (D) Bhagyadevi Theatre

-
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(A) T PV ST
(C) T=pepm el

(B)
D)

4. T3 I R SR @ @3 5 T5e1 SR 2

(A) IIRAT SRS
(©) fereerim are!

4. 3T AR AR ¢ GO 3 ER ?
(A) I JHIE ITRTAT
(C) oy e T

4. TR “3T1 HIT AR <0 <6 o < off ?
(A) HHS JHIE IFTRATAT
(C) forouy e T

B)
D)

B)
D)

(B)
D)

“BP TR TR G TS5 (FICT SRl Fffes 2

SR (@SR
S epTwm 34

SR (eIl
ARFST &7 e

4. Who composed the tune “O’ Mor Apunar Desh” ?
(B) Laxminath Bezbaruah
(D) Parvati Prasad Baruah

(A) Kamala Prasad Agarwalla
(C) Bishnu Prasad Rabha

5. EIFINE UK AN (2R :
(A) T
(C) Teq
5. SIS Y@l o7
A) T
(C) TR
5. SIUMM T-WERST AT ?
(A) Foamd
(C) <R
5. SUHHIGE S —
(A) 3
(C) TR

5. The currency of Japan is
(A) Yuan
(C) Dollar

(B)
D)

(B)
D)

(B)
D)

(B)
D)

(B)
D)

Ber|
F

1Y 44
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NS I5! &1F AT ST GTIF ST (202

(A) Sl R NI (B) @ w2

(C) SwEA B (D) e T ST
2/ SPINRI @ R Ao 7R (AR

(A) T = IR (B) @z wwE &

(C) SR =2l (D) AT FAF SHIGH
TS e Hi Aty st ferfifen smem

(A) T TEHE T (B) 4 el ATt

(C)  welweAT Aferan (D) forteg om wigrawd
IS TEEhR TH i a7l ToH STEH g 3 —

(A) Tl gy T (B) ID ot Uit

(C) eI T wrgehran (D) g HAR wErRE

The first Assamese writer to receive the Jnanpeeth Award was
(A) Mamoni Roisom Goswami (B) Yese Dorje Thongsi
(C) Bhabendra Nath Saikia (D) Birendra Kumar Bhattacharya

1942 59 SIS i) SICHIERTS JB5 2fRls FrieTol SiF [T Flrod BRmiR 2ol B4l
PEACECCE

(A) T=F (B) TG &
(C) IR (D) Sizesf

1942 @3 OIS RITT! HHIEET TR I ZC I0H Clfeid FeeTol QR TV IS
@fel T 79! PR ?

(A) 9r=oF (B) ToE7H

(C) wiFaref (D) SEeefs

3 1942 ARATM “YRA AR AHEEARTE ffes gictast sswharal 3T IHg Sl
T MEYRHA ?

(A) TR (B) T

(C) eferaraeht (D) FmeaTd

1
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1942 % 9RA B! 3Tigied § forfest gfetd 7 Heheran 3T qebe HTehdl shi Tl AR e
ISR RSIER IR

(A) TER (B) d9q
(C) ehErdfa (D) FEATd

In 1942 Quit India Movement, the British Police shot dead Kanaklata and
Mukunda Kakati at

(A) Gohpur (B) Tezpur

(C) Dhekiajuli (D) Ahotguri

“EpTI S Tafs ToI” Rifel 512 57 TR W *R_0! (2

@A) e (B) <=

(C) (D) RBRe

TR TAfS TSP, NrEi (e wameld i $90a Gl =4 -
A) (B) I

(C) ==l (D) R

TETTE BT oo HIGestl 21T ST @ieeie ‘ST 997 3G @931 3779 ST 7
(A) =t (B) wgqEl

(C) =H (D) forea

9 rec SN “IAEHIT WSy At " O HE @ Y WL |

(A) e (B) wgHEt

(C) HRA (D) foeama

The word that would correctly fill the gap in “Oxomiya Bhaxa Unnati
Xobha” is

(A) Xadhini (B) Bohumukhi
(C) Koron (D) Bistaron

OE O]
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(A) I TS (B) ST Wl
(C) = FHle] (D) ATG *RFIW
RS AR SPTAN SAW A& AR (& feTrafece 2
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9.  THIRT TETE SATeHifoh THEUH GHEATSHE Feqeh1ug THROM ferefiis € ?
(A) TH gL (B) A= et
(C) wnerd <heel (D) fieid Srehtce
9.  STAAT H JTeHIfh THT T 3T “HHHTS THR” fha foram o 7
(A) THEEd (B) 3Td heatt
(C) wrga heetl (D) #fHd Srepted
9. Who wrote Saptakanda Ramayana, a translation of Valmiki Ramayana in
Assamese ?
(A) Ram Saraswati (B) Ananta Kandali
(C) Madhav Kandali (D) Srimanta Sankardeva
10, SPTIEI SIR &I SCEIDA “SFCAML TP 0129 41 LIS (2fRe ?
(A) =D (B) F@otio
(C) <r=asoml (D) TIPS
10.  SPTRI SR @I /Gl “SRCel R TRl (AT IS 2Cfe 2
(A) w@rR=D (B) Pt
(C) =G (D) THFTRITY
10. “STeAErR” g Aty safien vat Akt seiee fogmm semE 2
(A) VIER (B) fosErm
(C) -Tethiea (D) HHTAR
10, “3RIETE” waeh! ST TS 1 e SR g —
(A) SRR (B) ReEmrw
(C) TeThicaTH (D) HIHUHTH
10. “Orunudoi”, the first Assamese language magazine was published from
(A) Jorhat (B) Sibsagar
(C) Naharkatiya (D) Kokrajhar
11, ARER G9-bFS WIS @G T8Ee 923 ?
(A) B)
(©) Tl (D) @H
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11. 0 SEirema i) (@FRIG eeivifeq Gebea shexl IR =1 2
(A) SR (T =) (B) o (@)
(C) TR (Fresir) (D) el (GoreieT)
11. eEE see e 53 frféamma (life cycle) #m ?
(A) THIgY B) foe
(C) @ (D) TS
11. Fr=faRea o @ & fadeft & Shaa-asw a T8 2 7
(A)  Hetuer (B) 3=
(C) = (D) et
11. Which of the following is not in the life-cycle of a butterfly ?
(A) Caterpillar (B) Eggs
(C) Pupa (D) Tadpole
12. TGN @R TR 4w (rafq WETb<E o F4w @RT6RA Rl 711e T 22"
ST @B (R
(A) TeETs TFBR (B) =l
(C) 2RI BN IS D) T. @RI
12. SISR BeIbq *FHR SR (Pl SOl Heltod 2w =D izl fbg FHE 75
2fRe ?
A) feEe I90- (B) =@
(C) =& A ke 4 A (D) T. @&
12. TR §@Ygd 9= (National Film Awards) A= fifafem safien aayEst e
(A) e TR (B) 31
(C) TR =3y ST9u™ @™ (D) o SSeedT
12. TR fhed Qe # Gd9g Hrer fhed & grnfd g areft ugeft srfirn fhem of -
A) foers T
(B) 3w
(C) ETeliein IR F1sna™ @
(D) . ScTewaT
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12. The first Assamese film to be awarded the Best Feature Film at the National

Film Awards was

(A) Village Rockstars

(B) Aranya

(C) Halodhiya Choraye Baodhan Khai

(D) Dr. Bezbarua
13. (BT IR SIEe oD fh SefEe o< (xR :

@) =g (B) @@=zl

(C) FreeTei (D) fsae sifetifer
13. THIRETIR Bl SICTEN (P (FIT AR ?

Q) e (B) wr=zB

(C) PRI (D) e wifsrerfer
13. 2rehars Tl fafoREmT wEu S8 g ?

&) fegme (B) IEre

(C) TosmmR (D) Tergaamer =ieamfa
13. 2Ihells I AU T fopd Tet H 8 7

A feme (B) SrEmr

(C) TreEmr (D) Tergamny =feanfar
13. The Toklai Tea Research Institute is in which city ?

(A) Dibrugarh (B) Jorhat

(C) Sibsagar (D) Bishwanath Chariali
14. PTG (I FoT 2l 5134+ (2R -

&) P (B) =RIMNS

() fofgsr (D) TR
14, SPIIGY GG CHe ol SR

(A) fRea (B) Jwizsite

(©) formpim (D) Tt
14, 3 THA S HIRETCET 981 7

A) fore= (B) weTETH

(©) fagfem (D) aeraT
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14. 375 1 Sheildl Hf-eh TRl 58 TELH & —

&) faer (B) g

(©) fogfem (D) TR
14. The only Sainik School of Assam is at

(A) Silchar (B) Bongaigaon

(C) Tinsukia (D) Goalpara
15. =P ey DR < Sfen T ' S[Es ?

Q) TOER (B) i@l

(C) w2 (D) TR
15. PG Fifers Roarmi o Sfgn Swim i o=fes ?

(A) TR B) Fifearel

() sl (D) TIRISTTS!
15. 3TTEM B TRETT 3T SeTf~ehet TeA3T &7 ?

(A) TR (B) =refm

(C) TamEd (D) TreTeTIr
15. 315 Uy Fafeamer vg aaeafa Seam el fma @ 7

(A) TR (B) =rfrm

(C) TaTErd (D) e
15. Where is the Assam State Zoo cum Botanical Garden located ?

(A) Tezpur (B) Kaziranga

(C) Guwahati (D) Goalpara
16. TTGEred IAW! &2 G ST 32ifed Aere Sz 9 ?

(A) e (B) W=

(C) = (D)
16. TTRSEITSR 9 (@ &=l 2/fRiS) G3R I2~IReq 0 IicE ?

(A) e (B) W=

(©) = (D) 34
16. AFGRIH 99 T8’ 37 g8 3T gewfd TgiH Towe ?

(A) T UE (B) gxUs

(C) w7 (D) F9TE

EiE
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16. ERHSH 1 hH A1 U8 Jeall TR gaedfa o = fe@a 2 ¢
(A) we (B) AH
(€) =l (D) 94
16. Which planet of the solar system lies between Earth and Jupiter ?
(A) Mars (B) Venus
(C) Saturn (D) Mercury
17. T3 97 FTGR SIToT SIS ST T Pl ?
(A) TP FIA6W 9l (B) fPiReRT oA
(C) TalfEa w2y (D) IAE= OIFF
17. SRSH TR OIBIF AT (F FCARC ?
(A) TP SOV 9l (B) formmifer comizal
(C) A& T13Y (D) A ST
17. 9RAf e fefheme! ) 7et e ?
(A) TIETEH IS Mt (B) firef dezn
(C) wufsrft amg (D) Tz 3T
17. WA o P &t i fopa fetre fomam 7
(A) TrEeE Hae Tieft (B) ftireft ez
(C) TS TrRIg (D) Tligry &R
17. Who designed the National Flag of India ?
(A) Mohandas Karamchand Gandhi (B) Pingali Venkayya
(C) Sarojini Naidu (D) Rabindranath Tagore
18. Iy S SNEIRS @iy Qe [if¥g aars e 717 2
(A) Tebifi o (B) SO
(C) TSHIR R (D) SOk TS
18. 1Y G HMERICS (i TeBIf R Eeica I8 ?
A) febifE C B) fehifimK
(C) fSbife B (D) feoiffm D
18. WY TR AHARE §a et g ?
A) ferf= C (B) faerim K
(C) T B (D) faefm D
SLRC-2022/P-1I/B 15 E’E P.T.O.



18. g 37 3tiaen # i 1 fyerfid yq@ &9 4 RIS 8 ?
(A) faerfm C (B) foerfm K
(C) foerfm B D) feorfim D
18. Which vitamin is prominently present in lemon and Amla ?
(A) Vitamin C (B) Vitamin K
(C) Vitamin B (D) Vitamin D
19. OISR RIGIT LTIF! NN TRFHBIET (i wHifeet 2
A ey (B) e @
(C) <&l pleel (D) <&l BICH
19. (I RO RIS T2eT! @2 T=IFIC fHIeiReet ?
) feaae B) fo=e @t
(C) e olee (D) eIl ACHAA
19. STEHRETE UH™ YRa fifafem smesen g ¢
(A) Tepror =it (B) frmad
(C) ST ATEel (D) T TFET
19. 3faie § S aTefl 7w IR qo i Afeet i off 7
(A)  fortor =it (B) fertor =it
(C)  =heqT =TEet (D) HedAT TR
19. Who was the first Indian born woman to go to space ?
(A) Kiran Shaw (B) Kiran Bedi
(C) Kalpana Chawla (D) Kalpana Saxena
20. TG CIEIETRED @ e s[Es 2
(A) TolETEID (B) @RI
(C) I (D) e
20, THENG ISR (I (SR SRS 2
(A) ToETE(G (B) @G
(C) I wrizer (D) 9IS
20. TATeTE fwEArisT 9 Marma g ¢
(&) TerEE (B) @
(C) sl ITATEANT (D) g

o
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20. uTeiiTe frbrgad fopw foet A fea 2 7

(A) TIeATEE (B) SIER

(C) et SRTEAT (D) Tia
20. In which district is the Numaligarh Refinery located ?

(A) Golaghat (B) Jorhat

(C) Karbi Anglong (D) Nagaon
21. ARG IS A K 2

(A) RS (B) Fbt

(C) ToIg (D) TGP
21. JATTAGT AG H 2

(A) AR B) =i

(C) A D) IGF
21. IRGSH TIAEMH &1 ?

A) TR (B) T

(C) <Elgd (D) TeH
21, YRGS 6 (AU R 7 ?

(A) T (B) =

(C) <rted (D) ek
21. What is the capital of Jharkhand ?

(A) Raipur (B) Ranchi

(C) Dehradun (D) Gangtok
22, TSI T 4 CITS wio® 51247 (202 -

(A) rqzel (B) TIleTR

(C) T (D) eIl
22. ©RCST @ FICTE A0 G Ao 7Y

(A) Il (B) Tletq

(C) o= (D) JwTRIfE

(OfF0]
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22. TERITE BRI WRAM Se STRATET TH1-@ Sl Alea € 7
(&) T (B) Hew
(C) 3icheta (D) T
22. WA # HH HITH I JSTTIFR -
CVIRELUS (B) Hrm
(C) 3iheizat (D) e
22. The place associated with gold mine in India is
(A) Jaduguda (B) Kolar
(C) Ankleshwar (D) Kalahandi
23. T OIZS ORTS 9 @B ARl ST “ISipe Fiaree ?
(A) QTR (B) 9@
(C) SRR (D) TAREE
23. TP B OIFS &= AR SRR Aol FCAfRe 2
(A) IECTR B) &TF
(C) E=RCIBI (D) TolNE
23. YA go SRS ffafe uramfes (Nuclear) TS 3THSITE ARHM ?
(A) STAER (B)
(C) el (D) T
23. YA A 379 Ugel TRHTV] 90T T TieT0T fohg worm ot femam o 7
(A) STAER (B) g
(C) Hefeniar (D)
23. In which place did India test its first nuclear device ?
(A) Balasore (B) Trombay
(C) Sriharikota (D) Pokhran
24. 3 0B FG59 72-7R TRFHS Ted 7 et 2
(A) 20 9T% B) 329w
(C) 229T% D) 259
24. G G #1572 e SR Tl ZGE TR T ?
(A) 20 9& (B) 32 9%
(C) 22 9% (D) 259&
M
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24. TH Tohene fycaata 17 faehe(d TToE SIS 99T ?

(A) 207 (B) 32méH
(C) 2231EH (D) 25 31Ed
24. Torehe T A fahei QI Aei s S I g FATR ?
A 207 (B) 327
©) 2279 D) 25T
24. What is the distance between the two sets of wickets on a cricket pitch ?
(A) 20 yards (B) 32 yards
(C) 22 yards (D) 25 yards

25. 2022 59 @ O (7l ARSTAITSIT 739 52010 ¥4I (I SIeTe Hi<fe ?
(A) TR FOHE (B) IR Db
(C) ToRF&F e (D) I «[ICf
25. 2022 SCIR FAIOT ST TR 49 [0l (F GRS PR ?
(A) T TCEAR
(B) TEFICEM BB

C) o sFifes

(D) qrRPICEeT |mieT
25. Thd 3AUH 2022 3T AR R -FRIY SERIARHTTE HIX GETHTd STETHH ?
(A) T HsT (B) wWwHE fafqums
(C) e SArhifere! (D) Thet TeTel
25. foheH e 3o 2022 § T8 Tehel ST 7
(A) TR HBER (B) wwHE feafcamm
(C) rareh Sepiferar (D) Thet TS
25. Who won the Men’s Singles at French Open 2022 ?
(A) Roger Federer (B) Stefanos Tsitsipas
(C) Novak Djokovic (D) Rafael Nadal

1
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26. 859 slfiow 2R 523 IR S ?
(A) RS oI S e 7 e
(B) N2 I feflqel
(O) Tl fagea 12 729 i< 7o
(D) Jed Fifer el
26. &% sifrees F=ItNRPT @ e ARibS
(A) R G3R TIE T TY
(B) N2 G A
(C) @b >eplel fagrerm qrgd M0y s91%
D) (6 Ired THaTe
26. i ARG UTSATTIESAT MR B Se arar s ?
(A)  FEH IR IEA TR THUTE
B) [ FaE
(C) @I SRR AR e a=E diHie
(D) sEAN A
26. e T YIRS fqu ST S 2 |
(&) gt ST % ot g
(B) UEHAA
(C) T TRV B h1 YMIAT h &fi= qag
(D) T I 1 &AHel
26. Greek Mathematician Pythagoras is known for
(A) Distance between Earth and Sun
(B) Value of P1
(C) Relationship between the sides of a Right angled triangle

(D) Area of a circle

27, frferie Teor 2e (G beItha SrleR (TS Siv® ?
A) FFHANENR (B) WERAETE
(C) Tuss FiEres (D) T FrETea

1
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27. W0 SraErre (i TG vetvod Ricsw (e 2wifE) e Aoifdo ?
(A) RIERoCRIRRT (B) SFOIEEEs
(C) T T (D) I TR
27. TERM o6 BRETE QYA SHAS Alea ¢ ?
(A)  FhaIIAHH (B) 3TRETHE
(C) TewI Bfteae (D) wE Hfeeaa
27. TrfaRad @ & % @1 ER e 3gam @ wefaa g 7
(A) EHIAAHS (B) IHISTHE
(C) dewrs Biteas (D) A HRIHE
27. Which of the following festivals is related to the film industry ?
(A) Rouketopolemos (B) Octoberfest
(C) Woodstock festival (D) Cannes festival
28. SR Uy AR (R oo 2/t 5209 [qieify 2 ?
(A) DI (B) SR
() N (D) w23
28. NI < (I FSBIRGT Sreld Sy afeiales lolfb 2a A ?
(A) FEPRIN (B) S
(©) wifeaN (D) IR
28. U1 SHTCHTE HIH @ 1 STRIeA] AT S ?
(A)  Hfceam (B) 3mIgH
(C) wifeam (D) A
28. HH1 AR WisH ¥ frfciRad o & feraeh! i S RO gt | 7
(A) Hfeerm (B) FREH
(C) wifem (D) et
28. Goitre is caused due to the lack of which of the following in our food ?
(A) Calcium (B) Iodine
(C) Sodium (D) Iron

1
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29. oSl YEHFIFT 199 w1 15 wiifeet ?
(A) AL DR (B) =R TEHFR
(C) Tarom qEmFR (D) Wil TCEIE
29, TS ARG o] (F freem ?
(A) A T (B) ZWRI T
(C) T&Tom IR (D) wfepIv T
29. AT AR fowRn JREH ?
(A) ST HHT (B) TETTY WS
(C) TS HTareRt (D) HfoT SETE HISTeRT
29. A1 HIYHL & AT B ?
(A) ST HZehRT (B) EeuY WReH
(C) iz HiIwsht (D) - Hofl THTE HTeht
29. Who was the father of Lata Mangeshkar ?
(A) Dinanath Mangeshkar (B) Hridoynath Mangeshkar
(C) dJitendra Mangeshkar (D) Mani Prasad Mangeshkar
30. 2022 59 1 QIS S SR SN <R IS8T T8I i ?
A) e e (B) ARE A
(C) TFE G D) & R
30. 2022 R 15t GIRRIACS AN FSNE g (3 foeem ?
INIRSGRET (B) IR Nl
(C) TOAFS G (D) TSl 20T
30. 1st January, 2022 & &M, IAEE LIH 3% JHERIMH RIS AR ?
A) foe faees (B) s €T
(C) sHeegHd (D) St Tge
30. 1 SHad, 2022 1 HYH TY TG & TFAfd HH & 7
A) foa faees (B) &b &1
(C) sHre g™ (D) i sTged

EiE
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30. As on 1st of January, 2022, who is the President of the United States of

America ?
(A) Bill Clinton (B) Barack Obama
(C) Donald Trump (D) Joe Biden

31. T IAGIFITS 999 forsfier 1 02w |

Q) 78 FPRE (B) =eftns PPz

(C) Foftre qTema Pigz (D) Fsfie owe PRz
31. e fAfe 2fest SR ArETas i ?

Q) =TS 7 PR (B) =Ffr€ 7 Ficg

(C) =M Acerss Pz (D) =TS gfare P12
31. ToR@! AR TSRGUTH &'07d T AGHH ?

A) w3 &g foe (B) wics firer fire

(C) Teics TSI fiig (D) Teie o fig
31. TrRHIFAEir o el § g3 T |

A) w3 &g foe (B) wrics fre e

(C) Teics Tsiven firg (D) weric3 yu o
31. The Rang Ghar was constructed during the reign of .

(A) Swargadeo Rudra Singha (B) Swargadeo Shiva Singha

(C) Swargadeo Rajeshwar Singha (D) Swargadeo Pramatta Singha

32. P NfZeT fRefvgiers GFie D12 wiafes 2

(A) P B) Ty
(C) @G (D) TRNE
32. PTG T2 Refmpiery (iR S_FEs 2
(A) R (B) Tze
(C) =zl (D) TRNR
32. STTET TSN GelhaleTiaTehaT 981§ 7
(A) TrsER (B) fesme
(C) RETR (D) TEHR
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32. aom ufgen favafoemes waf feoa @ ¢
(&) foremrm (B) fems
©) vreEw (D) AR
32. Where is Assam Women’s University located ?
(A) Sibsagar (B) Dibrugarh
(C) dJorhat (D) Lakhimpur
33. EARITFF SIACT SPTHT GICS (I IS TN R ?
A) TEER™ (B) S[eDet &t
(C) w7 (D) o=
33. QRN @ AT SRR A A P @R ?
(A) TEE™ (B) Sr<eelloet &=
(C) fesm (D) AT
33. UL TS §& TSI S/l ?
(A) Hae™ (B) 3TRUTEA T
(C) wforg (D) TS STt
33. ffugR fohe = 61 ST A SeAT B ?
(A) wETEE (B) &I Je
(C) =R (D) ufEm e
33. Which state does Srirampur connect with Assam ?
(A) Meghalaya (B) Arunachal Pradesh
(C) Manipur (D) West Bengal
34. faferii® (< DRI SIS IS OIR ?
@) wifos (B) g Frat
(C) Jferrol (D) oI
34. 0 SRS (FIF %20 Y I SR 2
@) T (B) g frat
(C) (Flerrel (D) Tof#ilet
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34. TTERIE B S ATRET Al ST G 7
(A) =EE (B) e fewedt
(C) hIcehral (D) WS

34, Tr=feifaa # @ ford wret # s ) seume B 7
(A) SN (B) % feeeht
(C) hIcTehral (D) T

34. Which of the following city has a sea port ?
(A) Cochin (B) New Delhi
(C) Kolkata (D) Bhopal

35. AP SRS 4V e F1 ST LI=TF] QD G SifweT ?
CNIREIRG (B) sTredal IR
(C) AT SEIHE! (D) TSitoMs I

35. SIPIN (ACH &I (e SR SrEPIE S M S AR ?
CNIRE R (B) @St IsizR
(C) Avia SGIHR (D) TSP I

35. el SeiEreh TR SRR SEHREE Sages) R e TEFERE gea
R ?
(A femem (B) el SIwiErs
(C) feurert wgr=md (D) WHIER &

35. TTSHehIeA 3Ticiiush H Ygeh Sid-dTel 3TEH & T&! Tl Shid & 7
@A) femem (B) el sUEr
(C) TRt wgramTsii (D) WRITER el

35. Who is the first athlete from Assam to win a medal in the Summer

Olympics ?
(A) Hima Das (B) Lovlina Bargohain
(C) Dipankar Bhattacharjee (D) Bhogeswar Baruah

1
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36. P HIPRT O e 0GR CTAT =T PYRLfeTe FeIq Sbfreme A wike
o |
(A) SR B) wEl
(C) MY (D) SFHS
36. ST FHHICIA G &I A0 F=IFS Sf S AN 2<pgl Pl G HAS 2
(A) SR B) T
(C) wf (D) TSl
36. 3TEM TWHRM F-WSHT GHI~ o aeiiEsTs aeHe BEETREE  gFF
fHfermIT |
(A) IEEE (B) =g=U
(C) @ (D) srEwd
36. 3TEH THR I -Ted Haeft Fanti Sl AIS13T ohl eI ST Sgat 9 & ST A1 8 —
(A) IS (B) wguq
(C) wwfy (D) 3reret
36. The streamlining of Land Revenue related services scheme of the
Government of Assam is better known as .
(A) Arunudoi (B) Basundhara
(C) Sarothi (D) Arundhati
37. NS X G2 Bl (O] Gl %! TG4 AeCh! 6 T Serenrs 2
(A) SRS TH (B) T
(C) ol (D) <@l
37. QNG WA A (@ RGN G WG M H A “iffoe ?
(&) SFRIAG (B) Tl
(C) oI (D) SRR
37. A= YThiGaSI BIETE ST A HEt fGfRrTE YweATsE! 71 e ffem ?
(A) AfpareTe (B) I
(C) THr=m (D) y=EH

EiE
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37. ofifd ehied g1 AR fohT 7T UehTehl ATCeh I ET FT R 7
(A) IR (B) I&TH
(C) dHrE=m (D) Yr=HTT

37. What is the form of the One Act Play, made popular by Srimanta Sankardev
known as ?

(A) Ankiya Nat (B) Yakshagana
(C) Tamasha (D) Bhramyaman

38. TTlETIS TR (i< 19 R e ?

(A) BISHIAG (B) I 71q
(©) FeF@ (D) wRIRG
38. 10 TS AT ey (I ARG S ?
(A) =TT (B) IFH 79
(C) 9 (D) @R TG
38. HHE STASE Y™ T G AT ?
(A) =TT T (B) stéi&a
(C) T (D) T &
38. frefetfad o & = o1 o= uftm st 3 fer & 2
(A) =TT B (B) =& &
(C) g T (D) 15T
38. Which among the following Satras is situated in West Bengal ?
(A) Chamaria Satra (B) Baradi Satra
(C) Madhupur Satra (D) dJakai Satra

39. P SIS TG A1 ! e 27 2

(A) [ 7= AR (B) o 711 *[<Ce

(C) Tesq ~Il niEpeitat (D) wEFer o/ TGCaT
39. ST ThvId OR T i i 2ifee = 2

A) o @ IR0 (B) ~IféT (A 4

(C) TeF (T ulEwC (D) W (AT TeE

1
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39. TEME do AL AR oo eIt Sgarst ?

(A) FESTHHRE TS (B) HHEHBRE ST

(C) HTEThRI SIeATr (D) WreATH ARt
39. S e 3rem o fory fesn d wgdi @ 2

(A) TS UEm (B) Ulzm &

(C) IWHEgEm (D) gf&rorE 3w
39. Which direction does the river Brahmaputra flow in Assam ?

(A) East to West (B) West to East

(C) North to South (D) South to North
40. “SFCER TP S SICEDIL 2L T2 (Pl ifes] ?

(A) . T GE (B) T=om g1

(C) fereq T (D) SN GRRET e
40. SPITRI “fGT SIECATE 9T & TS (F e 2

(A) T. AW FITH (B) =¥ vm I

(C) Sfererm Bre (D) ST (GRRT T
40. T TR s f frfafe gaT s 2

(A) . e S (B) &H =5 g%l

(C) 3MfeTeR HeX (D) A=< GfehaTel Fohrt
40. ST BT STRUNCE o FUH HATGH HiH I ?

(A) . U R (B) BHg S

(C) 3N FHeX (D) AU &fhaTe Fhd
40. Who was the first Editor of the Assamese magazine Orunodoi ?

(A) Dr. Nathan Brown (B) Hem Chandra Baruah

(C) Oliver Cutter (D) Anandaram Dhekial Phukan
41, FEHFH, TEE HE ST TES PPRRS (TG SN o[ e Teofme B4l

EiE
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41. TN, A, OFIH SFHGCT (P T A e T T ?
A) wrfE (B) ARSI *f&
(C) wrNfe (D) T fe
41, HAGFRH, TR TR TR THAUTRG (Project) 3Td 6 HETHHR Hifeaa@! €S gl ?
(A) & wifeets Tl (B) rRHATOISeh T8l
(C) fogma (D) @M El
41, HeIqahH, T 3R AR THEISHTE 9 & Hid 8 forsreft 61 3came #id 8 ?
A) 5@ wfad (B) T Sl
(O LEER (D) ER Sl
41. Which source do the projects at Kalpakkam, Narora and Tarapore produce
electricity from ?
(A) Hydro power (B) Nuclear energy
(C) Thermal energy (D) Solar energy
42, TP QARG AR e RS el fZp1ed elfise) sffee ?
Q) Fofmne (N Frez (B) =ofns FubRe
(C) =efms PPz (D) Ffms %774 Picz
42. ARG SN Frees C reEial 2O @ elfod) FeafReem ?
Q) =S AL Ficg (B) =eftre vw Pz
(C) =S P Prez (D) B 7w ez
42. TR 3ATEH TIOR SELT THATH @ SRETesTd MEee) 7
(A) Tfes i fig (B) w@ies &3 fag
(C) wamics firel fifg (D) i3 geet fife
42, TohE" SETE h! STTEM HTHTSY hi T8 TIGTH o6 T F TTUA fepall ?
(A) Tefes AT fifg (B) w@ics &3 fag
(C) wemics fire fifg (D) i3 gt firg
42. Who established Jorhat as the last capital of Ahom Kingdom ?

(A) Swargadeo Gaurinath Singha (B) Swargadeo Rudra Singha
(C) Swargadeo Shiva Singha (D) Swargadeo Purandar Singha

1
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43. THO AT PIREPITS SIC=e T 5[4 & FARE 14 5 ifezet 2
A =@ PR B) fmfes
(C) BFHES (D) T&"

43. THI6 ACSHA PIRIPIC SICARE TR =4 Ael TR 19 5 e 2
INBGEREC (B) frafee
(C) wFEH (D) IHUR

43. T TSI USTTEETHASTE MEFE R TS TR 37 W HE 7
(A) g (B) foreafsa
(C) YeRiea (D) weeted

43. IE TT Sl TEL] T o3 U Tged TSI AR ST T 19 AT 2
(A) g (B) foreasiia
(C) URiead (D) weeled

43. What was the name of the king Naranarayana before he ascended the throne
of Koch kingdom ?
(A) Nara Singha (B) Biswajit
(C) Shukladhwaj (D) Malladev

44. flerie @ity Siens s+s! Tiena Srizael el 5i¢ 1 727 ?
(A) o7 5TR (B) SN 9=
(C) e T2 (D) P /=

44, T SEiie Mo Ty @A St aliten Swzael et Rfve = a1 2
(A) et (B) 9N
(C) I D) B

44. TERE 94 fawisn faemg-fatan awi fafefy T 7
(A) @ (B) erssit
(C) ursA (D) gHfea

44. Tr=faRaa & @ % a1 vg yoiurd gt 1 3gew 78 o Srar g ¢
(A) W (B) ™
(C) A (D) femrey,

L=l
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44. Which of the following trees is not considered as an example of deciduous
vegetation ?
(A) Sal (B) Mango
(C) Pine (D) Simalu
45. OIS Il NS E SISl (e e 2
(&) A (B) TsARA{!
(C) RS (D) =
45. O[S I M &SV (F ?
(&) T (B) M2
(C) T« (D) w9
45. T FEUSTRE TRASATE TREFIRET A7 7
@) 7Y (B) e Tl
(C) ==X (D) 3TshsR
45. YRd H GITeT HHTST o FTT8TIeh i o 7
@) 7 (B) e gl
(C) ==X (D) 3ThsR
45. Who was the founder of Mughal Empire in India ?
(A) Humayun (B) Sher Shah Suri
(C) Babur (D) Akbar
46. 30 T SO (FIG! B2 RFTa 2fedqm ARE FREE SR ol 2w
feq gfere 2feer ?
(A) DR ST (B) dle=G =iz
(C) TTE-NCh! RER (D) TSHMeR 525 Sifere
46. I *PFTS SR (T HBER efeqm F0S ool QRIS IR SIT2orH E

SOl TRRE ?
(A) N TR (B) A& iz
(C) st NTHl =T (D) =2 oI5 Tt

1

E5E
SLRC-2022/P-1I/B 31 2R pT.O.

[=]



46. fafes wrafy 99 Al St@m 2on S AT STferaTeTet SFIsTeE ST SThe ?
(A) HTEHA HiHeH (B) et 3115
(C) - e (D) WA BT HATEATET BINEATS
46. fsfes v & form arffrm & fotta § Sfcramaren s gcamehis 6t e 3ohgl g8 oft
(A) HI1gH HHIIH (B) {ete T
(C) el il gum (D) g Tateres fget
46. Which Act of British India had the Jallianwala Bagh Massacre crowd gather
to protest ?
(A) Simon Commission (B) Rowlatt Act
(C) Morley-Minto Reforms (D) Separate Electorate
47. e ozl R fofey «fa amrza el Rl 41 =, 12 7= 4 (20 :
(A) o, Ped, T af (B) Ty, e, Bwery 4
(C) T, T, famerf (D) e, e, (et
47, AP @ Foafb 407 77 eI Rl w0 24
(A) o, Re, 27 ot B) Wrae, 2, S of
(C) T, T, famerf (D) e, e, (et
47. TSE 99 AU G0E TRt g 7
&) fe, for@, 3™ (B) dig arM, ferg, 30T
(C) g arm, J1 9rH, feg (D) f&g, fra, oig arXm
47, TSN 1 T T ST T HET SR —
(A T uH, g v, sam o (B) dtg v, feg o, s g
(C) g o, 34 9, fig v (D) feg o, fom uv, sig av
47. Hajo is considered as the confluence of the three religions :
(A) Hinduism, Sikhism, Islam (B) Buddhism, Hinduism, Islam

(C) Buddhism, Jainism, Hinduism (D) Hinduism, Sikhism, Buddhism

EiE
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48. EEILT afsfiiyg ST AR FElie @F Teid qHife-REid Fe gl e

3 ?
(&) T O IS (B) TR
(C) T RICTI 7 RIE! (D) 2 *Rfoe SIS
48. 0 SRR W & TR 9 BT o Fiefd elfffig wee 2
(&) T O IS (B) TR
(C) o5 TRIBTRA = RN (D) 2 fodioe S
48. TTERM SE3T g METHRE BRARIT “3HIR sk fomr 2
(A) s wrEmEE IR (B) Ut
(C) i fafSrranferts wrete faforefi (D) Tieami femmsafer sy
48. Tmaferfga o @ =9 sHfea 1 wfafifie w0 & fore wemm feh arfeor 2 2
(A) T T 3ATIH (B)  wirshuret
(C) I I o &I =T (D) & fratert g

48. Who amongst the following is the ‘anti-corruption authority’ to represent the

public interest ?
(A) Chief Information Commissioner (B) Lokpal
(C) Chief Justice of High Court (D) Chief Election Commissioner

49. SR MRRYET GG SPHI SRTo Teq IR ey FR i@ (NCHAC) 9177

e ?
(A) TP (B) I Sepid
(C) B SpIl (D) ¥ Spib!
49. SR MR @ TN S T6d PIRIT “/1e) FRIeHTe ifam sifoe zrfee ?
A) e (B) 1% 7wl
(C) =B il (D) T v

1
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49. HTEI HBR TS TG TEE AT TfTSraf s SIS TREar e ?

Q) w7~ (B) w5y
(C) w8 (D) w6ty
49. Gy i forg SE % T8 I FBR T W TRy (T 0. 5. ) 1 Te foha
T ?
(A) T srgge (B) wr=ref ST
(C) 3Tl g (D) et T

49. Under which schedule of the Constitution of India is the North Cachar Hills
Autonomous Council (NCHAC) formed ?

(A) Seventh Schedule (B) Fifth Schedule
(C) Eighth Schedule (D) Sixth Schedule

50. THIREICS AR SeeTo I+ (IS 41 27 ?

(A) TEIE g (B) A2/ It
(C) T o (D) e By
50. TS AL (Flel S0 Fa1 27 2
(&) T (B) 12T Bf]
(C) ©F =% (D) e gy
50. M STECE! TUETET {1 SRfE SIEATETE 6l ?
(A) GETE (B) ®wiE]
(C) < STFE (D) HHH ERA
50. 3H Tl STHAR W fope & § I e 8 7
(A) I7g i & (B) e 3T |
(C) =&aH (D) H9as HeHi §
50. Which region is Jhum cultivation usually practised in ?
(A) Wetlands (B) Hill sides
(C) Char areas (D) Flat plains
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51. ©IISF (@I AT A B! SAHITTT G (2f2e ?
(A) Tedy (B) f&imet e
(C) (D) fofew
51. SRCSA @ A B SR Sgo 2@ ?
(A) TeArey (B) T=25eT 2o
(C) sl (D) e
51. “Touen! GmEEERET WA o9 TESISTE ST SHEE - ?
(A) TS (B) femreet gem
(C) = (D) fafewm
51. WA o fohd TS H 7oA &9 | TIU=RI STTGITH TR T o7 ?
(A) IEEs (B) Temm=ret gem
(C) ef@mm (D) fafery
51. Which state of India did the Chipko Movement originate in?
(A) Uttarakhand (B) Himachal Pradesh
(C) Haryana (D) Sikkim
52. SITTS FIMA SPT B ARG F2H (IG5 57 FICH! TR 12T ?
(A) SRSRT q& oI 23 AR
(B) T 25 I27F I 27 A9
(C) ST @I GF AR (87 (Sionel 2’3 AR
(D) 7N @ ARIRE 29w Tl 27 e
52. feTCa SCarornd T0 (i Tl SIRTS oM T 2SR &) K FH0S A Al 2
(A) SRSR FIRF 200 2 |
(B) T 25 ITEHI I 20 AR A1 |
(C) SRCSA @ @I 5 G (S5 20® 2[ |
(D) VN BCRR A1~ 200 203 |
52. WA HEGH TIGMT STHI TERIH e TGS THIY =1 ?
(A)  WRAT TR ST
(B) 25 SER o HIfgs g3 JHTST
(C) YRat STrrig S gafef+ femms@un (Voter) SR
(D) 9@l 10 T 3=iTeste S ST
(OE 0
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52. WRA ¥ T8 9w 994 o foie f=feiRaa o @ forg wice <l g ot <t STTaweshar 141 & ?
(A) WRA T AT BT ITET |
(B) 25 ¥ & % Y I TEI ST =Y |
(C) T % foreht oft Frafem &3 o e B =z |
(D) <&l 10 o &€ shl gdieq el e gt |

52. Which among the following criteria need not to be fulfilled to become a
Member of Parliament in India ?
(A) Must be a citizen of India.
(B) Must not be less than 25 years of age.
(C) Must be a voter in any constituency in India.
(D) Must pass class 10 level of examination.

53. TP 9IIP AFI e (2 FigF @I fersfier Hfafet 2

(A) S (B) wRIFN
©) FTgImm =z (D) Ty %
53. (I G SRTST 2l HIF (Sied Ot «Affoe) areif forsfter wtafeem ?
(A) SRS (B) wRIFN
(C) T 2T (D) TR*1Z
53, AR HarE “ire o Te” T B A A 7
(A) FHK (B) Serfit
(C) FI9-3z-3H U5 (D) e T
53. Top8 THTE 5 WA < (AT &9 & 1d) UTS g US 1 o o ?
(A) FHK (B) SR
(C) FIIEH Usieh (D) e
53. Which Emperor built the (popularly known) Grand Trunk Road of India ?
(A) Akbar (B) Jahangir
(C) Qutubuddin Aibak (D) Sher Shah Suri
54. SROR MU HET TPIHTS TS TR (T TGS 27 ?
(A) blesfE (B) =Ce!
(C) T (D) I
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54. T SERSHR W& @D SRTSR TR SRS SBT3 e 7 ?

(A) TSl (B) Tl
(C) Twien (D) I
54. WRATR Hiefraf gy s meRf s¢ Tasn e ?
A) wetfer (B) g
(C) nfereft (D) et
54. T=forfga @ @ =9 w1 wRa & wfaam % AR et g & mie T R 2
(A) G (B) el
(C) afereft (D) &

54. Which among the following is NOT included in the Eighth schedule, as per
the Constitution of India ?

(A) Santhali (B) Bodo
(C) Maithili (D) Karbi

55. W3 I5! S FAT &I 7P SO A RS @B

(A) DHErS] BRI (B) AR ¢rdl
(C) SISy =B CairgIst (D) forsfet eret gamta
55. &2 SPINT Ff2etl G2 T Rl A&l <[ e
(A) Smere! B (B) Sferame ¢t
(C) SIITeT =S CaMFRIS (D) fersfer eret qameat
55. T ST A fIfafeE TahmEn SesrEms A A forfimeT |r ?
(A)  T=guwT Bfat (B) fert st <t
(C) Wi TUSEH et (D) feiet s seet
55. Ut JUEhR SiTa- aTelt Taet! ST Aiget hid 37 wiigen off —
(A) =gy dferar (B) et srer ¢t
(C) HrHf Terem et (D) Tt g e
55. The first Assamese woman - a poet and author — to win Padma Shree award
was
(A) Chandraprabha Saikiani (B) Nalini Bala Devi
(C) Mamoni Roisom Goswami (D) Nirmal Prabha Bardoloi

1
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56. SRR AU PIFCH! SR TEI-7J7 SIS ey TP [0 W1 @wiel e ?
(A) SC=RT 14 (B) SIR=T 377
(C) “ro=n 371 (D) SIRRT 254
56. ORISR R (i GRICS Tey +[4 ©lHres qrey@ e [emm wmi e 1) 2ee ?
A) 14 R 4= (B) 377 R4l
(C) 371R4El (D) 254 R4l
56. AT Gfefsraf 9« gHmET a1-ar= YRaf TESHERA = emarfa! = gt 2
(A) TH114 (B) <®1377
(C) <T®1371 (D) <&H 254
56. W HiTHTH T HH A1 3T<ae JaTal Y TS ! foroiy ot YeH wtar g ?
(A) 3FTeB¢ 14 (B) 3¥I=g 377
(C) 31T=3g 371 (D) AT=g 254
56. Which Article of Indian Constitution grants special status to the states of
North East India ?
(A) Article 14 (B) Article 377
(C) Article 371 (D) Article 254
57. SRIRIEE (T2 o oI o 2% feeier @i oi%e fef Sfemizfee ?
(A) [T (BTG PN (B) AT RN
(C) AN I (D) SIREw=S 75f
57. SSZFAE (T Tomelf o ey 336 @i frcaieeE 2
(A) 7 R R (B) TERSAMT! SR
(C) Aty SIS (D) SRGmM«9S el
57. SATETA Te&s3T femhad) 31 sfean’ fosmeat @t fommm ¢
(A) gom firE SegETte (B) e AT
(C) 3 St (D) 3TEHEHR fohem
57. AT A€+ ‘Tewshatt 31 oo qwh et fora off 2
(A) IO FgA A (B) &= S
(C) 3MIA (D) 3TEHGTR ekl

EiE
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57. Where did Jawahar Lal Nehru wrote the book ‘Discovery of India’ ?
(A) Pune Central Jail (B) Yerwada Jail
(C) Thane Jail (D) Ahmednagar Fort

58. eI DRI (FTIE TS foRd 10T & R G 31T iz ?

A) s B) @G
(C) =R (D) faer
58. -GN SCARSTTE MKy (Piel G foTpa Sy cotalferss Heeare (76 <iR.Gifel) TR ?
A) ToEd (B) @=2b
(C) =R (D) R

58. TERM §¢ IR § TREE AFA gAE g ¥EE yAREeni foFenn
(Geographical Indication) 3 gl ?

&) TR (B) @R
(C) Ty (D). forem
58. frmferfaa o @ fopm T =61 o<t & fow GI ey g3 @ 7
&) TR (B) @R
(©) wrfHg D) freitn
58. Which among the following places has received the GI tag for its Litchi ?
(A) Tezpur (B) Jorhat
(C) Lakhimpur (D) Shillong

59. ffefre @I a1 fe S R IR TR YT AL SIS 2

(A) TG PITS (TR (B) 6 et
(C) TG IISHGA (D) =6 @I

59. I SR TR0 (F SRR FRRRIER TRFR AR &) ARibS ?
Q) TE PITS TEIM (B) =76 Fefaxifept
(C) =16 ICHIB (D) =T JIFCA

1
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59. TERIM R g @t WA AT 3ea@! ®rareme faui fagmf emamw fafosmn 2
(A) AT FAS SARISH (B) AT harterd
(C) i AIgvese D) e Bt
59. TmfciRaad & @ sF R e soeft # o719+ guri o e S ST e ¢
(A) T FAZS SRS (B) A€ HHATAE
(C) TS ASesed (D) ©Ifé Aepret
59. Who amongst the following is known for his reforms in Indian Education
System ?
(A) Lord Clive Dalhousie (B) Lord Cornwallis
(C) Lord Mountbatten (D) Lord Macaulay
60. TIFICH TH© AT T 'thr CIBEE ik 93 (AFSPA) 52 2k ?
(A) 1958 (B) 1952
(C) 1960 (D) 1971
60. P1F Tl ORI B2 (AFSPA) % It “APT 2a(ee 2
(A) 1958 (B) 1952
(C) 1960 (D) 1971
60. & ABYEE ﬁWWWTﬁ@ AT (Armed Forces Special Powers Act) 31
TS 7
(A) 1958 (B) 1952
(C) 1960 (D) 1971
60. TIE 5 RN Wiws ST (T.us%.wq.bi.u. ) fore o urieq fmam mam o 7
(A) 1958 (B) 1952
(C) 1960 (D) 1971
60. In which year was the Armed Forces (Special Powers) Act (AFSPA) was

passed ?
(A) 1958 (B) 1952
(C) 1960 (D) 1971

EiE
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61. 18— [6— {4 — (8 +3)}] I fefy a1 |
4 -2 B) -5
©) 5 D) 2
61. 18—[6—{4—(8+3)}] @I 37 :
A) -2 B) -5
©) 5 D) 2
61. 18— [6—{4—(8+3)) Famfea ?
A) -2 (B) -5
©) 5 D) 2
61. 18— [6— {4 — (8 + 3)}] I AM AT HITC |
A) -2 B) -5
©) 5 D) 2
61. Find the value of 18 — [6 — {4 — (8 + 3)}]
A) -2 B) -5
©) 5 D) 2
62. & ANER elfis WEGS 35 Bf =% 5izA S #AI | 987 Bl =% 5i2 IR0 (063 i
SRS S 2] ?
(A) 27 WG 12 e (B) 28 WG 8 e
(C) 27 WFG 7 B (D) 28 ff+b 12 TFe
62. €3 & &fis MG 35 B *% Jurra TS A1 | ©iF 987 G *1% JuIHha FAC© F© I
A 2
A) 27 NG 12 TS (B) 28 ffel5 8 CTF%
(C) 27 WRG 7 e (D) 28 b 12 CTFY
SPACE FOR ROUGH WORK
(OfF0]
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62.

62.

62.

T8 g ¥ fuftera 35 Gige egd (Type) T &= | 987 Hig@! <189 A1 forit & Miema
TH AT 7

A) 27 fufe 12 9= (B) 28 fufte 8t

(C) 27 fufe 7a%= (D) 28 fufe 12 %=

T Ak 35 &g Fid e hl & | 2159 HLdT & | 36 987 &g 159 i H fohaHT T8 AT ?
(A) 27 fime 12 Oe (B) 28 fire 8 T=hs

(C) 27 fiTe 75%s (D) 28 fire 12 Ths

A person types at the rate of 35 words per minute. How long will it take him

to type 987 words ?

(A) 27 minutes 12 second (B) 28 minutes 8 second
(C) 27 minutes 7 second (D) 28 minutes 12 second
4 7
63. T T forefa <wa |
1+§ 2+§
1 1
@ g ®) 3
© 1 M) 0
4 7
63. T RS E
1+§ 2+§
1 1
@ 7 ®) 3
© 1 M) 0
SPACE FOR ROUGH WORK

EiE
SLRC-2022/P-1I/B 42 Eﬁ



63. T~ 1 A
1+§ 2+§
1 1
A 15 B 3
© 1 D) 0
63. 41— 71wm=r3n‘crzﬁﬁm
1+§ 2+§
1 1
A) 19 B 3
© 1 D) 0
. 4 7
63. Find the value of 1~ 1
1+§ 2+§
1 1
A) 19 B 3
© 1 D) 0
64. {-7,-6,-5, ..., 5, 6, T} WG (25! FS(<E R SR ?
A) 15 (B) 14
<€ 7 D) 8
64. {~7,-6, -5, ....., 5, 6, T} FALCS S TR LG Sl 2 -
A) 15 (B) 14
© 7 D) 8
64. {-7,—6,-5, ....... 5, 6, 7} & WINATE T qeg fuform A g ¢
A) 15 (B) 14
© 7 D) 8
64. {~7,-6,-5, ....., 5, 6, 7} *FGAT H IUCTeY HTeh{ceh HEATHI ohl el T & —
(A) 15 (B) 14
© 7 (D) 8
SPACE FOR ROUGH WORK
(OE 0
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64. The total count of natural numbers available in the series {7, -6, -5, ....., 5, 6, 7}
1S
(A) 15 B) 14
© 7 D) 8

65. IM 5-SRFYG ABITS(F AF MG *71 3-SRFYS H(GIZOCP TG IR [l 1

65.

65.

2, (0% Teq0I 2T

(A) 9001 (B) 9000

(C) 9990 D) 9999

oD =ICR7 =Rl 9170 2R FR2GICF #AI6 SCw @il S T 74 (A [iel Fce
RS T I

(A) 9001 (B) 9000

(C) 9990 D) 9999

3 T AT (digit) Tetfm smfmaTwe™ 5 foammm 3<fim sHfmrat erE e fhemn
Enic

(A) 9001 (B) 9000
(C) 9990 (D) 9999
65. Jf¢ 5 37 h! HaH BIC! HEATH & 3 37ehi ohi ToH SS! TG 9T &1 T, Al TROTH Bl § —
(A) 9001 (B) 9000
(C) 9990 (D) 9999
65. If the largest 3-digit number is subtracted from the smallest 5-digit number,
the result is
(A) 9001 (B) 9000
(C) 9990 (D) 9999
SPACE FOR ROUGH WORK
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66.

66.

66.

66.

66.

“x TR IS 9 I(CHAT (AT 80 GTCS G5! I90Faq ST Rofer @t ol
9=

Toltare RFoUhR el e T2 :

(A) 2x2 + 3x (B) 22+ 4x

(C) 2x2+ Tx (D) 2x%+12x

“x TSR 2B @b 0ol q2%3¢l hazrsl (12 3sifbw femesd siffas et iel 1l 2e1 |”
Soire Rfeoiba Sremifeifess i :

(A) 2x2 + 3x (B) 22+ 4x

(C) 2x2+ Tx (D) 2x%+12x

“x TR THT HIE st geerrsffy S & sifamr anfife famt e gt | &
o STt TR B |

(A) 2x%+3x (B) 2x% + 4x

(C) 2x2+7x D) 2x2 + 12x

“Y[TT & % Teh 11 & &Gl o & T 1 SHT ol oh JRAT o < T3 H S fean Smar 2 17
IHIh HU hT SIS 1T ST ¢

(A) 2x2 + 3x (B) 2x2+ 4x

(C) 2x2+7x (D) 2x2+ 12x

“T'wo times the area of a square of side x is added to three times the

perimeter of the same square.” The algebraic expression of the above

statement is

(A) 2x2 + 3x (B) 2x2+ 4x
(C) 2x2+ Tx (D) 2x2+ 12x
SPACE FOR ROUGH WORK
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67.

67.

67.

67.

VO ST S TR @91 AW FRYGMGIN TISIBIN A AP [EISFem Wi 23
(08 e Sfe 3T=q (@l @bl wa Sfe =] ?

(A) D! o1 Y72 Frelfe 7 23 A |

(B) 14 A 7O 41T ICH %) 2 |

(C) <l 5% IRYJq 2IRSTHIN SIFCE! S FREI TS [ 277 |

(D) WG RIS TFS: GO T W[ 2T |

w25 ST <) RLIT @lerre (@5 AT @ TR (S [T T =
forcw e @m I 5Ty 2

(A) 72 oRYIR FSI 72251 2o 24 |

B) 726 SR oSt A T = |

(C) Glb 7Pl Sw1g =jef 7221w efiotens =33 |

(D) 726 PR TS G %+ 2 |

Jfe Tam 98 @ U iy gereTE § @ U sEf tfm amaties
IR g e WA ST S SR, STee e seE e ey |

(A) T i A e s sem e

(B) A= T IHSHT STSITeITEET STeaTgs A’ S

(C) HHETHE (inverse) I IEA VT SFHNHIST THM SR

(D) A= T IENHT T3 AR SR

Ife G 3TEHT QUTTeh! <hT AT THM g1 QUITh] § & oS & BIE % T & SOk &, i feforfad
FU R A HAATEIR 7

(A) T qUTTeh SITehfdeh TETE BT =T(eT |

(B) I quTiehi 1 AN EHIM I BIAT 2 |

(C) U qUifeh T STt ok qUTTeh oh ISR &Il 2 |

D) AR HAAFAITRATH I ® |
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67. If the sum of two unequal integers equals the subtraction of the smaller from
the larger of the same two integers, then which of the following statements is
correct ?

(A) The two integers must be Natural numbers.

(B) The sum of the two integers is always zero.

(C) The inverse of one integer equals the other integer.
(D) At least one of the two integers 1s zero.

68. (I 9Tl faoes fofbi aeg (el T2tz 2.3 .M., 20 f.f1. =1 23 fi.fi. | fqgeht tam
@51 :

&) e fogs (B) T fage
(€) WA fogw (D) e fage

68. M fagre fomib qred WMot 2.3 1.7, 20 FL.R. @3 23 f.fi. | fqges @3l
&) frare fags (B) TR g
(€) I fags (D) R fags

68. WY T UM R Aem degEsT 2.3 9.f4., 20 ffa. sm 23 ffi o
TR AT A
(A) THE AfE smanfr smarfem (B) HHM @ ARSI
(C) Ty ImETfrum (D) RIS AT I

68. Teh 1 Y i ypemiati FY g 2.3 A, 20 fAft, 3w 23 fu .t B | Brepior 2 -

(&) fergerag Frepror (B) s fashror
(©) wwHI gt (D) wwfgaTg Frpror

68. The three sides of a triangle are of length 2.3 cm, 20 mm and 23 mm. The
triangle is a/an
(A) Scalene triangle (B) Equilateral triangle
(C) Right angled triangle (D) Isosceles triangle

SPACE FOR ROUGH WORK
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69.

69.

69.

69.

TR GBIF (PG TN (2R :

(A) % x (4 O T rarereT)

B) 2 x (FF qORT (T @oiEe)

(C) 5 x (3 7O et )

D) 2 x (F° Tl (eI 7[<ere)
G FRICTR THaT :

(A) %x & 7215x T QareeT )
B) 2 x (@ 727 T @)

(C) %x @ 7367 i @3orre)

D) 2 x (@ 7267 A eIze)
T (Rhombus) SeATsiET e

(A) %x(ﬁﬁmaﬁﬁmm)

(B) 2 x (&l ETErE! S FTER emseT)
(©) 5 x (ufs wTaT < e TR
(D) 2 x (fafy TR T AR G

guqyst 1 Sk TS Bl § —

(A) % x (5% 2 Fa o e =1 )

(B) 2 x (34 < ferehutt &Y iaTg o1 I)
(C) 5 x (g & ferehoft 1 s a1 Toer)
D) 2 x (39% gl TorhuTl I ASTG BT UHGBA)
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69. The area of a Rhombus equals
1
(A) 9 X (sum of the lengths of its two diagonals)
(B) 2 x (sum of the lengths of its two diagonals)
1

(©) 9 X (product of the lengths of its two diagonals)

(D) 2 x (product of the lengths of its two diagonals)
70. 21feT 5 59 41 : 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
70. XE 1 9 : 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
70. Wit ARATTEN 317 @™ @ 149, 600,000 = x 107.

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
70. T&F T 1 W : 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
70. Fill in the blanks : 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
71. &2 20 B TSI AL @ISRET (202 :

(A) 210 (B) 120

(©) 124 (D) 310

SPACE FOR ROUGH WORK
(OE 0
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71. 2% 205 FreiRE AR @lorwe =9
A) 210 (B) 120
(©) 124 D) 310
71. fufsfem 20 fafmm sl (Natural numbers) T geme@3T SIFTH
@A) 210 B) 120
(C) 124 (D) 310
71.  T¥H 20 STh{eh TG R AW & —
(A) 210 (B) 120
(©) 124 D) 310
71. The sum of the first 20 natural numbers 1s
@A) 210 B) 120
(©) 124 D) 310
72. x2y ¥ xy? J 9.8, 2 ;
@A) «x B) vy
©) x+y D) «xy
72. a2y @R xy? @3 9.8, 29 ;
@A) « B vy
©) x+y (D) «xy
72. x2y AW xy2 2.3, (HCF) 31 71 ST ?
(A) «x B) vy
©) x+y (D) «xy
72. x2Zy 3R xy? &1 T=H .U, B —
@A) «x B vy
©) x+y D) xy
SPACE FOR ROUGH WORK
OFq0
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72.

The HCF of x%y and xy? is

(A) x B) vy
©€) x+y D) xy

73.

73.

73.

73.

73.

CRIT! ARG G T S AW ¢ S =P G99 TGl y T, (S0 FRABI 2T -
(A) 10x+y B) x+y

€ xxy D) 10y +«

G5 R GFCHA ZI & G TP B y A0 & FRGI 297 -

(A) 10x+y B) x+y

€) xxy (D) 10y +x

Sfe Ad SR Gaf ety e x 3R gR e R y s, & st
T SATA 7

(A) 10x+y B) x+y
C) xxy D) 10y + x

fe 3ohTS o T W 37k « & 3T BTE o TIH W 3k y 7, 1 T&I fhash g g 8 ?
(A) 10x+y B) x+y

C) xxy (D) 10y + x

If the digit at the unit place is x and the digit at the ten’s place is y, then the

number is given by

(A) 10x+y B) x+y
) xxy (D) 10y + x
SPACE FOR ROUGH WORK

E5E
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74, e @_2 N @‘2 .\ @—2 . @—2

@ i ® L
© (D) 54
o v 7
@ 3 ®) 7
(C) 14 D) 54
o S e
@ 1 ® L
© D) 54
o st 4
@ 1 ® L
© (D) 54
74. Evaluate : %)_2 i %j_2 A &)_2 . %)—2
@ 13 ® L
© (D) 54
SPACE FOR ROUGH WORK
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75. %% —bx+ 63 x — 3 T3 23 I (VI 29611 (202
A 1 B) x—2
© o0 D) x+2
75. x%—5x+ 6TF x — 3 I A Sl I
A 1 B) x-2
(C) 0 D) x+2
75. x2—5x+ 6@l x — 3 N TAHSATE T ThAT83T ST
A4 1 B) x-2
© o D) x+2
75. x— 3R 2 — Bx + 6 T TS A T TIROTH 37TdT & —
A 1 B) x—2
(C) 0 D) x+2
75. Division of x2 — 5x + 6 by x — 3 results in
@A 1 B) x—2
© o D) x+2
76. I GF ST (Fae (202 300 .f.2 T [ T 7S (2 25 G.f. | IROGR
AP 2 :
(A) 88Tb.I. (B) 70 7.1
(C) 64 7.1 D) 58 .M.
76. GIID TRSCHCIN EFGe 300 T2 @32 O el Til 25 T1N. | SIRrecEraite #IfF i
(A) 88 TILM. B) 70PN
(C) 64BN D) 58 I
SPACE FOR ROUGH WORK
(OfF0]
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76.

76.

76.

TS STaf SsamsRET STem 300 (3.f4.)% 31 af @' g asuTs S 25 3. |
o A gRffe fagmn sger ?

(A) 884.fu. (B) 70%.f.
(C) 643.fa. D) 584.fu.
Teh TIA ST &%eT 300 a7 8.1, 2 3R 3ok forehul it &7amg 25 T, B | 3TRId o1 4iT 8 —
(A) 88w .. (B) 70w,
(C) 6431, (D) 58w,

The area of a rectangle is 300 cm? and the length of its diagonal is 25 cm. The
perimeter of the rectangle is

(A) 88cm (B) 70 cm
(C) 64cm (D) 58 cm

71.

71.

I 4T SURHTF 7199 T 3] 299 TTSCF 2 9 | I SAIKGE 7K 2 @ F 295 3 @
99 41 27, mi%iﬂ’cﬁ | S2ARACH! TR :

(A) (B)

St e
Ol3 o|w

©) (D)

GG SN 714 ©fF = (AP 2 P | W 0P 2 AT 790 A B 4R =ICP 3 A 7

1 R O SNIIB WeR %l@zﬁmﬁ%m:

1 3
») 3 ®
5 7
© = ™ 3
SPACE FOR ROUGH WORK
(OfF0]
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77. AHE SERERGIH TSR THITHES 2 @9 | i TSt 2 §i s iean SR Tt
3ﬁw@w,mwﬁmﬁwm%|éaﬁ@3@aﬁ3ﬂm

(A) (B)

St e
O3 o|w

(©)
77. o U9 1 39 39eh & Y 2 HA & | A 39 1 2 T TJom Fohan S 3R F I 3 9§ om feanm
s i frm 2 @ R | o 2

D)

(A) (B)

St e

©) D)

O3 ot|w

77. The numerator of a fraction is 2 less than its denominator. If the numerator
is multiplied by 2 and the denominator is multiplied by 3, then the fraction

2
becomes 9 The fraction is

(A) (B)

St e
O|~3 ot|w

©) D)

78. (Il ¥ Ries &' oiF @A TSAE 91C 07 (2= 16 929 ; (@K &1 1 K759 51%
T 15 I29 T (@67 @159 951G 737 2 18 27 |

RAIETTS 2<5] o191 P (R TR SIS (R0 :

(A) 5:2 B) 4:3
© 2:1 (D) 3:2
SPACE FOR ROUGH WORK

(OfF0]
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78.

78.

78.

78.

G R (= 8 TIER 91T T 16 IS | (F96 (XEAWR 91T R 15 IO GR (&
N 1T TP 18 IO | RIpRRIGTS (2051 8 R ST ;

A 5:2 B) 4:3

©) 2:1 D) 3:2

T HUIETRE S e AW s G 99 W aHe e 16 SE | g
TS ®RA S| T/ AEST 15 S| 3R fE=sresn mien B 96 W aEsT 18 IR | 9
EURETTASTS BT TR fereTaraTh R TTg3T see ?

(A) 5:2 B) 4:3

©) 2:1 D) 3:2

T Thel 1 oIgeh 3R SIgiehal gl o1 3Nd 31 16 a9 2 ; Shacd oTgehl shl 3H19d 311 15 a9
2 3TN haet Arefendl i 3Ed 311g 18 Y 2 | Whel H Igehl Ud TISihal <hi TEAT 1 I
3_

(A) 5:2 B) 4:3

© 2:1 (D) 3:2

In a school, the average age of both boys and girls is 16 years; the average
age of only boys is 15 years and average age of only girls is 18 years. The
ratio of the number of boys and girls in the school is :

(A 5:2 B) 4:3
© 2:1 (D) 3:2

1 1 1 1
79. (1—2) (1—3) ......... (1—9) (1—10) EELRIROERICEECE
1
@A 1 ® 719
1 1
© ~15 D) 5
SPACE FOR ROUGH WORK
®im
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19. (1-3) (123 o (1-) (155 fram ==
@ 1 ® 15
© -16 ®) 3
79. (1-3) (123 e (1- 3 (1= 55 oo g
@ 1 ® 15
© -16 ®) 3
79. w5 (1-3) (1-3) o (1-3) (1-55) Fam2 -
@ 1 ® 5
© -75 ®) =
79. The value of the expression (1-2) (1-3] ... (1-3] (1-75) s
@ 1 ® 15
© -16 O 3
80. THICT G SR 12.5% ZPT FICaT FRAIBI 119 T | TR (=R
&) 130 ® 125
© 148 D) 136
SPACE FOR ROUGH WORK
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80. &M TRAF 12.5% FAICE 119 “NeF AR | 37=2471fG
(A) 130 (B) 125
(C) 148 (D) 136
80. TNY IFNHE! 12.5% @HTISAT 119 ST | § SSHE AT ?
@A) 130 B) 125
(C) 148 D) 136
80. UHh TG 12.5% Tedi 8, Al 119 I I 2 | HEAT 8 —
(A) 130 (B) 125
(C) 148 (D) 136
80. A number when decreased by 12.5% becomes 119. The number is
(A) 130 (B) 125
(C) 148 D) 136
81. 1,2,4,8,16, ......... , 256, 512 XRIFANGIS Al W1 R4 2R :
(A) 10 B) 9
C) 7 D) 8
81. 1,2,4,8, 16, ......... , 256, 512 FALCS ATTE TR
(A) 10 B) 9
© 7 D) 8
81. TERN wiEEAMs faeE g 1, 2, 4, 8, 16, ............... 256, 512
(A) 10 B) 9
© 7 D) 8
81. MM Y@ H UG h G&TR: 1,2, 4,8, 16, ......... , 256, 512
(A) 10 B) 9
© 7 D) 8
SPACE FOR ROUGH WORK
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81. The number of terms in the series 1, 2, 4, 8, 16, ......... , 256, 512 1s
A) 10 B) 9
© 7 D) 8
82. (T ¥ 5277 IA@ 1 : 50000 (FTS Hhe F91 (2R | AACALTS 5! B 739 12
(5.1 | ZDR Wree &5 79 (R ;
A) 6=FM (B) 9fs.f.
© 12f.M. D) 15 %M.
82. (b *FCRF MA@ 1 : 50000 HI*l 40 el 1 28T | AO@CS 76 2/ 7% 12 L. |
EORUEERRIREGEEGE
) efsf B) 9f.f
C) 12 %M. (D) 15 M.
82. TH HEM AMEWERE! 1 : 50000 AN RG] | o HAHTSRTISTE TRIEAHT Ga- 1
TSR3TE TR THARIST A6 12 T, | & TREER g i Semen o ?
A) 6fs.fa. (B) 9fs.fa.
(C) 12 f&.fu. (D) 15 f.fu.
82. T G H1 ARM 1 : 50000 3 I T AR Tehall ST 8 | AHIH W Q1 €AHT o o=l hl gt
12 9.7 8 | S T o = i areafas gl & -
A) 6fwf. (B) 9f&w.i.
(C) 12 fop.1t. D) 15 fer.1fi.
82. The map of a city is drawn on a scale of 1 : 50000. The distance between two
locations is 12 em on the map. The actual distance between the two locations is
(A) 6km B) 9km
(C) 12km (D) 15 km
SPACE FOR ROUGH WORK
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83. TG MBI AT 9T 12 B[ MG I9/3Fe19 “[149 C=20= 60 | FRUMGIA A& i<
¥

A) 4 B 3
(C) 6 D) 5
83. T2Ib MR @I 12 @R SR A0~ 60 | 71471 7267 #1147 297
A) 4 B 3
(C) 6 D) 5

83. T FNHIN T JEE 12 AN S9RM S GRETRET JE™ 60 | o R
A wRETRRET AT ?

@A) 4 B) 3
C) 6 D) 5
83. I G T AN 12 7 3N Ik ol 1 3R 60 2 | T T3 o ol T TR B —
A) 4 B) 3
© 6 D) 5

83. The sum of two numbers is 12 and the difference of their squares is 60. The
difference between the two numbers is :

A) 4 B 3
€ 6 D) 5

84. 2009 200% IN«Z']

(A) 40,000 (B) 400
(C) 4,000 (D) 440
84. 200 93 200% 27 :
(A) 40,000 (B) 400
(C) 4,000 (D) 440
SPACE FOR ROUGH WORK
®im
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84. 200 f1 200% 31 SITTA

(A) 40,000 (B) 400

(C) 4,000 (D) 440
84. 2001 200% & —

(A) 40,000 (B) 400

(C) 4,000 (D) 440
84. 200% of 200 is

(A) 40,000 (B) 400

(C) 4,000 (D) 440
85. 14,21 SF 28 .58, IIF o.57.8. T I T2 IAEFH

(A) (84, 14) B) (56, 7)

(C) (84,7 D) (56, 14)
85. 14, 21 €2 28 G ... G 9.8, G :

(A) (84, 14) B) (56, 7)

(C) (84,7 D) (56, 14)
85. 14,21 W 28 [ ¢.37.41. (HCF) 3 g.30.41. (LCM) 31 %1

(A) (84, 14) B) (56, 7)

(C) (84,7 D) (56, 14)
85. 14, 21 37K 28 & TT.HY.UH. 3R U=, 5. UF. hAW: 8

(A) (84, 14) B) (56, 7)

(C) (84,7 D) (56, 14)
85. The LCM and HCF of 14, 21 and 28 are respectively

(A) (84, 14) B) (56, 7)

(C) (84,7 D) (56, 14)

SPACE FOR ROUGH WORK
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Q. Nos. 86 — 88 : Fill in the blanks with correct prepositions :

86. Have pity the poor.
(A) with (B) of
(C) at (D) for
87. Take precaution cold.
(A) against (B) for
(C) with (D) within
88. The picnic table is placed the tree.
(A) under (B) underneath
(C) beneath (D) below
Q. Nos. 89 - 91 : Choose the correctly spelled word :
89. (A) Veterinary (B) Veterinery
(C) Veternary (D) Veterenery
90. (A) Elemantary (B) Elementary
(C) Ellemantary (D) Elemantery
91. (A) Dissimilar (B) Disimilar
(C) Dissimmiler (D) Dissimiler
[=][m
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Q. Nos. 92 - 93 : Choose the correct pair which is similarly related.

92. (A) Good, Best
(B) Tall, More tall
(C) Fat, Rough

(D) Worser, Bad

93. (A) Funny, Funnest
(B) Order, Disorderly
(C) Keen, Kind

(D) Calm, Calmer

Q. Nos. 94 — 95 : Choose the correct pair of words which are OPPOSITE of

each other.

94. (A) Rough — Coarse (B) Artificial — Synthetic
(C) Take — Accept (D) Sad - Happy

95. (A) Easy-— Tender (B) Within — Outside
(C) Right — Correct (D) Closed — Shut

IEI?EEl
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96. Choose the correct pair of words which are SYNONYMS of each other.
(A) Evil — Blessed
(B) Cheat — Deceive
(C) Above — Below

(D) War — Peace

97. A group of Dogs is called
(A) Pack (B) Swarm

(C) Herd (D) Flock

98. A group of Monkeys is called
(A) Troop (B) Cluster

(C) Rabble (D) Herd

Q. Nos. 99 - 100 : Fill in the blanks with correct articles :

99. Edmund Hillary and Tenzing Norgay were _____ first to conquer Mt. Everest.
(A) the (B) an
©€) a D) it
100. Mr. Bennet left his property to___ unknown heir.
A a (B) an
(C) the (D) some

%%
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101. FTforRre =g (I SEFT G #1411 727 ?

(A) Apology (B) Archaeology

(C) Psychology (D) Geology
101. 10 TS CHITIG S X1 =73 2

(A) Apology (B) Archaeology

(C) Psychology (D) Geology
101. TERM 56 HHHT HUIHTE T e 787 ?

(A) Apology (B) Archaeology

(C) Psychology (D) Geology
101. F=feTRaa & § i e i e g @ 7

(A) Apology (B) Archaeology

(C) Psychology (D) Geology
101. Which of the following is NOT a branch of study ?

(A) Apology (B) Archaeology

(C) Psychology (D) Geology

102. f&FFH (XE1F O To® =76 Bolle 347 |

Q) Rre (B) FICHE

(C) Pre= D) frorg
102. TG (IR 03t 711 s{fremifs s 4 -

(A)  oferelf (B) FITHR

(C) Prp-wv (D) faept
102. Tshehe TSl SieaT T Eigrerat i |

A) fecferdt (B) HEX

(C) T 3 D) T
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102. Tsrehe o T & H1Y 1T Iec hl TgTH . |

A) fecfisdt (B) *RH
(C) Tuep 3™ (D) fed
102. Identify the term associated with the game of Cricket.
(A) Delivery (B) Counter
(C) Pickup (D) Reverse

103. “THS! : 2[S” * YO A3 ST =<1 161 27

(A) Pants : Legs (B) Cap : Head
(C) Gloves : Hand (D) Belt : Neck
103. “Tol : IS” FQWH TS YFRIF THFS =% (SIifb bfee 79 |
A) =G : Al (B) B S
(C) ewrE! : 2re (D) TR (@7D) : ofl
103. U1 : HATETE” W3fe AHI THT S s |
(A)  TTESTHT ; T (B) 9t : &
(C) IEmEf g : e (D) &2 : e
103. HafYd S1eq] shi SIS hl T&=H IHT a8 & i 58 “S[d : Y~
(A) 92| (B) ot i
(C) T : 8™ (D) o< : T
103. Identify the pair of words related in the same way as “Shoes : Hands”,
(A) Pants : Legs (B) Cap : Head
(C) Gloves : Hand (D) Belt : Neck

104. 278 TR 2T FRCG! MR AR R MY TGS 712 2

(A) 256 (B) 884
(C) 128 (D) 512
[OEL)
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104. 0 (€A MRAIBTEAR A (@G 993 @A SHTTS 3 2
(A) 256 (B) 884
(C) 128 D) 512
104. TERM S T SHSHE o TQ g1 T T8 8T ?
(A) 256 (B) 884
(C) 128 (D) 512
104. & TS TEmati A i o U € ag 1 R i g
(A) 256 (B) 884
(C) 128 D) 512
104. Which one of the given numbers 1s not a part of the same group ?
(A) 256 (B) 884
(C) 128 (D) 512
105. 3% 239 2fFF D @, 779 &ffF s M @, @l efd s A @ 9 [a efews S @

105.

105.

105.

ORI 'Y, (o8 s e Ofe 7oy 27 2

(A) 32A8M16D4=-3/2 (B) 6M 18D 26 S 13 A 7=173/13
(C) 11M34S17D8S3=238/3 (D) 9A9S9DIMY9=9

T D oisl =, M 89 =, A @9 =0 g S [ = o e Swie @i <ot
e ?

(A) 32A8M16D4=-23/2 (B) 6M 18D 26S 13 A 7=173/13
(C) 11M34S17D8S3=238/3 D) 9A9S9D9IM9=9
Jfe D 311 TF™, M 31 GFeA™, A 31 SNEA™ 3R S 31 gHE I BIER, 316

et el fagfysm don 7

(A) 32A8M16D4=—3/2 (B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 D) 9A9S9DIMI=9

Je DU, Mg, AN 2 3N STer g, al FAfciRea A A pR AT e T 8 7
(A) 32A8M16D4=—3/2 (B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 D) 9A9S9DIMI=9

E5E
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105. If D is division, M is multiplication, A is addition and S is subtraction, then

which of the following statements is true ?
(A) 32A8M16D4=-3/2 B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=238/3 D) 9A9S9DIM9=9

106. BIRG! =7 fooTe, FIMG! *F SEIRE CTTS 77 7123 ?
(A) Asia (B) Europe
(C) Australia (D) Africa
106. BIRG *Tw= M TG SR Sefzhol 73 2

(A) Asia (B) Europe

(C) Australia (D) Africa
106. TS TG ATE T WIS B RS TRIST ?

(A) Asia (B) Europe

(C) Australia (D) Africa
106. 9T TG & & M 9 768 G § HeAdT-Jerdl 1a1 & 7

(A) Asia (B) Europe

(C) Australia (D) Africa

106. Of the four words, which one is not similar to others ?
(A) Asia (B) Europe
(C) Austraha (D) Africa

107. &Me =72 [eoTS #2< *web! b1 Sfered

(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
107. 90 SCaie *mesfom 0 SHma (T 72 16 Y& @ I |
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT

EiE
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107. TERTE FHTT FEGRA HTeTd T BREFTHT dige@t AhR 2
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
107. Tr=feTRaa v o T 1 3111 @ fod @ |
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
107. Of the following words, find the one different from others.
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
108. 6574398 IR S JRIT B4 A1 o1 SGIZSE 7 RGBT 77 GFiirers

108.

108.

108.

108.

CRPITCH! &k i 2

A) 6 B) 5

© 7 D) 4

6574398 €3 IHRGE IR W@ @ Fuow MY AM0e 2@, 12 Wiy F T
(G 2 ?

A) 6 B) 5

© 7 D) 4

6574398 FARET T forrsl ARAH g isfgs gefem sHim ToRume aHE
fommsm oS ¢

A) 6 B) 5

© 7 D) 4

6574398 % Tfi 3ThT T IUANT Hlch FHTE AT Hebl ATl TH DI T&AT H, Jieh &= H i
|1 37 BT ?

A) 6 B) 5

© 7 D) 4

In the smallest number that can be formed by using all the digits of 6574398,
what would be the digit exactly in the middle ?

A 6 (B) 5
© 7 D) 4

(OfF0]
SLRC-2022/P-II/B 69 3 p1.0.

[=]



109. 233G IR TS 3¢ =i “ixex) 3¢ qi! &=l =051 oo 41 |

(A) BOLT (B) TELL
(C) BELT (D) TALE
109. ZCTE! 31T St @2 196w 7 21l *<afl o 9 |
(A) BOLT (B) TELL
(C) BELT (D) TALE
109. S FEMTATH AT 3 =1 gEl Hi-1 S 4™ "Gt A ?
(A) BOLT (B) TELL
(C) BELT (D) TALE
109. 39 315 31 TgaH L FEH IS TUiHTe o gol 3R afed gl 18R 3 |
(A) BOLT (B) TELL
(C) BELT (D) TALE
109. Identify the word which features both the second and the fifth letter of
English alphabets.
(A) BOLT (B) TELL
(C) BELT (D) TALE

110. TG =% SKRE SR 2 TS TGS 727 ?

(A) Sleeper (B) Lower

(C) Stopper (D) Upper
110. TP >[5 ST 0 93 WETH BYS 7 ?

(A) Sleeper (B) Lower

(C) Stopper (D) Upper
110. s GG YTAHT HGITHRS | HSHR B3 GIHSIRT ?

(A) Sleeper (B) Lower

(C) Stopper (D) Upper
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110. 9 91 31sg Y g o Ty Tafera T2 8 7

(A) Sleeper (B) Lower

(C) Stopper (D) Upper
110. Which word does not belong to the group with the rest ?

(A) Sleeper (B) Lower

(C) Stopper (D) Upper

111, “S7 SITS & (&P 7

“(ooe] SHTF (D |7

B (O (Y |7

v &2 51 S 7To) 2, (ST8 oI She(hl 27 :

&) 1 (B) =PT

(C) o= 7 7= (D) 52
111. “Sof T (AF 87

“ToS S (ATF IT”

BRI (5o (AT T~

T &2 it [ghs 77 271, O wor Kfef :

(A) T B) e

(C) e 2 (D) 2
111. “TUA 371 SHHIAH E3 TR

Sfe fife G forgfrmn @on, s amfy gl

(A) et (B) T@™

(C) SIS @it e (D) Ere iy ey

P.T.O.
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111.

111.

EEEEEICEECEY

‘YA TH IS E |

“ghque A A T2 |

I T8t & HYF I 7, A AHU HAA R -

A) "3 (B) ITcH

(C) 3T9ITH ST (D) STEETId HUH
“Tapan is elder than Emmanuel.”

“Chetan is elder than Tapan.”

“Emmanuel is elder than Chetan.”

If the first two statements are true, then the third statement is

(A) True (B) False
(C) Insufficient information (D) Unrelated

112.

112.

112.

112.

7% MADRAS *R5IF @I «F SRre NBESBT 257 7141 27, (08 96! ©E®
BOMBAY *R1(GI (S fo1l¥9 a1ifafq 2

(A) CPNCBZ (B) CPNCBX

(C) CPOCBZ (D) CQOCBZ

I @3 e S e MADRAS ¢ NBESBT 201 @141 20, ©@ @ ©FF
REFC© BOMBAY SSIta G4 I/ ?

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ
Sfc @EE 9T MADRAS @ NBESBT 38w (Code) foitt, BOMBAY @t &

YIS HT SETSI (AT ?

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ
Ife e ffda s #, MADRAS 1 NBESBT o &4 ® shifsa foham wmar 2, df 39 Wi o

BOMBAY ! &8 <hifed feram simam ?

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

EiE
SLRC-2022/P-1I/B 72 Eﬁ



112. If in a certain language, MADRAS is coded as NBESBT, how is BOMBAY
coded in that language ?

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

113. 93 9<TS *3r ACEGI T Wifel 5a1t @ oo forwfB @ Iecht Ifeaiies Tifey ot =12 2

(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
113. G @i 3 TS W2 =% ACEGI 71 =2 F1 o Sepiael Ffer 2
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
113. 3T M3 Hige ACEGI S SRfSH T0g 968 HigaaT STar ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
113. 38T 1 S |1 99 3EH wsg ACEGI gr1 fFeifia frem o1 a1er 78 shear 2 7
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
113. Which set of letters does not follow a rule set by the meaningless word
ACEGI ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL

114. SR TR e sige (e SiediE IR | O e AsMe i ol s (e
RN | 93 RS ©i2 PIRFite 91 1 S 771 @ (e @12 A7 | S GRSl &l
Tee] 374 s =1 2
A [ (B) Teq
(C) =I5 (D) w=

114. =1 Sfrs 98 e “isemi =il 2106, SRR GT IMHMCH (WIS I SRS “Asem =i =105, 3
G (WIS o701 SRS G =11 ZICE, STl G (IS 4 I SR 2
@) o (B) Ted
(C) =I5 (D) W

1

(OfF0]
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114.

114.

114.

R IF SRR 50 3TTH &R | afserR T smfaf fifd smiema 50 s
ITET | saE fordl FfEih=1 3T 100 3WTH STeREl | SR 81 s i #i@l S ¢ ?

(A) Fre (B) &

(C) TN (D) @

ST 3T G hi T T8 heH Foid! & | Th a8 arff 1R gedt 7, TR 7= shew =erd & |
TRl 9% Al & 3R ey Ferdt @ | o1 61 9w ore fha femd @ ¢

@& w (B) s

(C) ufem (D) cfor

Leena walks fifty steps towards the rising sun. Then she turns left and walks

another fifty steps. Here she turns around and walks a hundred steps. Which
direction is Leena facing now ?

(A) East (B) North
(C) West (D) South

115.

115.

115.

115.

115.

Q4 I0IFhoq FAEIT 2T 407 oo O I ¢RI SITes SIphothl C2ez «bi

&) A g (B) T fagw

(C) T fagw (D) STH g

4B 5P T @I I Se Fa0 Tesiifirs sififes epfef 2 -
A i fags (B) AR fage

(€) NN fage D) T fage

T8 o7 Tt EUTerE! foiH EETERE S e SITER YEg ST Tglstl o7 S ?
(A) T AETRYH (B) WU ST STETU™
(C) Ty HATET=IYH (D) SHTHT ARETRIA™

Teh STTIeRTL &HTSA o1 38eh Ferehut o 3rgfem Hie wt giuret sarmfirear srmepfa &idt 8 —
A) s B (B) @HaTg g

(C) T (D) =Fhivr gt

The resulting geometrical shape on folding a square Handkerchief along its
diagonal, is the

(A) Obtuse Triangle (B) Equilateral Triangle

(C) Right Triangle (D) Acute Triangle

EE
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116. 80, 10, 70, 15, 60, ........ XRYFGIS QI (AR /S 95! 7RI 2
(A) 20,50 (B) 25, 45
(C) 30,90 (D) 50, 20

116. 5 (ST FMHCS 26! 74 91 297

80, 10, 70, 15, 60, ........

(A) 20, 50 B) 25,45
(C) 30,90 D) 50, 20
116. 80, 10, 70, 15, 60, ........ BINTE &S SR 3 i ST a1 o7 2
(A) 20, 50 (B) 25,45
(C) 30,90 D) 50, 20

116. < TS Sf@e H 37T & T E —
80, 10, 70, 15, 60, ........
(A) 20, 50 B) 25, 45
(C) 30,90 (D) 50, 20
116. The next two numbers in the given series
80, 10, 70, 15, 60, ........
are
(A) 20, 50 (B) 25, 45
(C) 30,90 (D) 50, 20

117. I% L MOAT 3 (31ce 77™1fF®, R SOAP 3 BIte 7IiFe 27, (o8 el F swiiee

I 1Bl (=R
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
117. 3™ L MOAT «3 Ac% 57IfFS, R 72 FS SOAP 93 A%, O 432[ F 77iF
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN

(OfF0]
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117.

Sfe L 31 MOAT i @eamTHI, R 31 SOAP St SAleawTHI, 3Teet F 37 T@He et
ASE 7

(A) GOAT (B) GREEN
(C©) GOWN (D) GROAN
117. gfe L, MOAT @ Heftrd 8, R, SOAP @ Heftrd @, a1 F 3t TehR @ Heifera @
(4) GOAT (B) GREEN
(C) GOWN (D) GROAN
117. If L is related to MOAT, R is related to SOAP, then F is similarly related to
(A) GOAT (B) GREEN
(C©) GOWN (D) GROAN
118. CUP : LIP :: BIRD : ?

118.

SRS TP 07l 191 <2 o[« RpeIChl (et :
(A) GRASS (B) FOREST
(C) BEAK (D) BUSH

I e @2 T A0 AT S| TR
CUP:LIP::BIRD:?

(A) GRASS (B) FOREST

(C) BEAK (D) BUSH
118. §& 9198 ARG 93HE3 Aeed amgra! fgfRm ?

1 ;R g ?

(A) TE (B) gmm

(C) e&l Yy (D) &R
118. &M 91 foehey Taf¥d & fo7e qed 393w & —

Y : TS :: qaft : ?

A) =™ (B) &=

(©) = (D) wmel
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118.

Which one of the options best fits the relationship
CUP: LIP :: BIRD : ?

(A) GRASS (B) FOREST
(C) BEAK (D) BUSH

119.

119.

119.

119.

119.

JAR TFHRCG! [ 1ot 512 2/ TR TeF8 RKpeieh! foere 1 -
GRS ; ANEE: AR @O

INIRPRICEEY B) BT

©) o (D) a5
Xl 5t TR S TR e @ et fofes 7

R : TSR o @A GO

(A) s B) B.0.2

(C) Tl (D) 2o
I AT S3frgs refem g st @il ATer-eEe 31y @ ?
I : ST TN AT ;W &I :

(A) Gehd B) fafasz

(C) fefera (D) wigwm

T Giet 3TN To 378 forehed At T it 3R fch e & W -
SIS SRR C TR G ek RN

NGB B) aA%

(C) femme (D) wieHH

Find the relationship and identify the best option to fill up the gap :
Airport : Runway :: Railway Station :

(A) Signals (B) TTE
(C) Tickets (D) Platform
(OfF0]
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120 AGN3M4N7H3N4N2K7A2D5F6
*RYEANGIS AT FBCECA o0 S (N9 (202 :

A) 22 (B) 24

©) 26 (D) 20
120. o9 FHGre

A6N3M4N7TH3N4N2K7A2D5F6

AL FoH SR Iiee fofefy 541 -

a) 22 (B) 24

C) 26 D) 20

1200 A6NSM4N7H3N4N2K7A2D 5 F 6 %i@E a9@™ T8 7 foam

TG fog ?

A) 22 (B) 24

(C) 26 D) 20
120. [l

A6N3M4N7H3N4A4N2K7A2D5F6

o meft T SR BT AT R 7

4) 22 (B) 24

(C) 26 (D) 20
120. In the series

A6N3M4N7H3N4N2K7A2D5F6

the sum of all the even digits is

(A) 22 (B) 24
(C) 26 (D) 20
[CIET]
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121. o 4! 2Rl B2l (?) afeRe IR AR @R TR o F41 -

?4158617/‘N
6 5 9

A) 57 (B) 51

(C) 58 (D) 63
121. fe oafore en@Eiss Bred Siacs @ 712016 13 ©f fbfes F9 |

?41586177‘N
6 5 9

(A) 57 (B) 51
(C) 58 (D) 63
121. GH™ BREAEAR e e MRS ST JHEEt TR ?

7’415 86177‘N
6 5 9

(A) 57 (B) 51
(C) 58 (D) 63
121. ThicrIl H T <& w1 sige o fog 7T st vg= = |

?41586177‘N
6 5 9

(A) 57 (B) 51
(C) 58 (D) 63
121. Identify the value to replace the question mark (?) in the figures :

?415 86177‘N
6 5 9

(A 57 (B) 51
(C) 58 (D) 63
E5E
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122.

122.

122.

122.

122.

“ETT, T, 4
7 (25 IR ifsffag 341 foacs! fbfee w1 |

A) O @ (B)

@I, Tl 4G
YA O eifefias Fa1 foaibee bfee 99 |

A) O @ (B)
©) : D)

»w O @ ®)

oy 311 gfdffre o a1 3 1 fafgd i —
e, fheer, e

@ O @

Mark the diagram best representing
Gold, Silver, Metal

A) O @ (B)

E

2
=
!
|
§
%
%
g

E

BY B S

€

€

SLRC-2022/P-1I/B 80
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123. e bepTes foeqe SiEiTe 2 Hac! foare 4 |

(A) ? (B) T\/\
©) WVI\ D)

123. SE QI SieTvl 91 fog Baftes Bfee 99 |

A) ? (B)
©) /'VI\ (D)

123. TETBRIHR JTEel Hami@! s |

(A) ? (B)
©) rvT\ (D)

123. THU & 3T SATH(d hl T8=H B —

@) ? ®)
©) KVT\ D)

123. Identify the figure different from others.

(A) % (B)
©) /'VI\ (D)

Wy VW "R/, ¥WE W
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124. wore il foaprzs &2 vb! =18 beprrz ¢ Aifes s@fEfes e fw | ¢R Tife
wepife 2 fozeht et faq o ot tae :

payladgh

OIS

Vil

A) O B 7\

©) o O

124, FGR BaBTEITS, 2125 U6l AR G0 FREE WMo I | G127 SRR epaies bz
(?) “RR_CE 2@ :

Jay)at
O

e
A) O B 7

)

© o O
124. FrermiETe frfe g Jien 78 39 B | § 91 99 ¢ [ e @ Smme e
bal)al@h
O
el

A) O B 7\

©) o O

EiE
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124, F= feu mu fom @, ugeht @1 ufwat s fm & gwiidt € | fram % egER, <77 % fom
e 8 —

X |ZX
O

Ol
(A) O B) 7\

© o O

)

124. In the figure below, the first two rows indicate a rule. According to the rule,

the replacement for “?” is

AT
ol
Ol

A) O B 7

©) o O

125. TeT#I57 : S20WIe :: (W3 : ?

A) @R (B) 452
©) @z (D) TR
125. =957 : TRCWIS :: (IR : ?
(A) T e (B) =g
(C) =glopT (D) 5P
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125. &9dq : foei - 9'eEe ¢

(A) =I®R (B) TgrE

©) T (D) T,
125, e : faers «: #amsd : ?

&) WER (B) uglEs

(C) ™ (D) W
125. Laptop : Windows :: Mobile : ?

(A) Play Store (B) Android

(C) Apps (D) Games

126. o (ryeat i MRS G4 2oz 415 2re @ryeq Rge @€l ACs A ore 31 =,
(ST (PIT4T = (R IR 19 2

@ ®)

(©) (D)

126. I TR GFYY PTG G CTIT T

4 TS RIS (@41 Sl o w1 27 ©4 (1 &Sl @i 2

(&) § (B)
(©) § (D)
M
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126. SocTl TEHTE BHTE Rg2mg =T T TS T forelTs@t BIumi=T grais oFvee foar a1

TIfE 7Et ToTH ?

(A)

(©)

(B)

D)

126. ﬁ@ﬁmaﬁ;ma@wasﬁsﬂzaﬁﬁam%@%mnﬁé%aﬁqﬁ@%ﬁ@ﬁ%ﬁ ?

(A)

©)

(B)

D)

126. Which image would appear when a transparent sheet with the pattern as

shown

1s folded along the dotted line ?

(A)

©)

(B)

D)

SLRC-2022/P-1I/B
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127. & 30 H@pTed (FI0G! AT Fa® b2 SR AICHiw - efoRg 5157 95 ?

&
o gp o P

127. & ©a @reil i S9iEa woia afsfg o9 2

&
o gp o P

127. BRI ¢ SR MEERH e grami 97 ?

L
o gp o qp

127. 3T M1 H & I |1 Teh G ol GUUT s 81 8 ?

CIER D e 9P
o gp o P

127. Which one of the figure pairs is NOT the mirror image of each other ?

N s
o gp o P

Ok 0]
@
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128. & bacsis (25! fags G2 St ?

(A) 13 B) 5
€ 7 (D) 10
128. foafbre @it T fage itz ?

A) 13 B) 5
© 7 (D) 10
128. T Aied AEIAH € ?

(A) 13 B) 5
© 7 D) 10
128. 3Tehfa # fepe Brysi € 2

A) 13 B) 5
© 7 (D) 10

128. How many triangles are there in the figure ?

») 13 (B) 5
© 7 (D) 10
E5E
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129. €51 g 15! 705 ol ez |

2 Refeibi g 251 PSR o5 RvSe Pifve 2! g oI 2
A) = B) =2

(C) +i5 (D) 95

129. G2 =(FF 70 (BRI (1S3 20T

oG g 21l we1fbw feidhe wee sl g wiiee 2
Q) = (B) 72
(C) #i5 (D) 45

129. TH SEAFA 7 HELa T ™

e fomer M giRaify Iefi e ArgisTe giaed fa< € ¢

@A) < (B) 3
(C) = D) ¥
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129. T € g % g1 &9 few MU F

i feigatt oot g o foodia g@ W fepaa fog § 2

A = B) @

(C) == D) T
129. The two appearances of the same Die are given

How many dots are there on the face opposite to the face with three dots ?
(A) Six (B) Two
(C) Five (D) One

130. &g DEpTys IM FHE AL A SIS S 27, (S0% HapTs S 29 :

ORO k=)

(A) 1423 (B) 2134
(C) 4123 (D) 2143
130. I

OROJsRI=)y

TR TG 127 AL AR 2 O A6 2(A

(A) 1423 (B) 2134
(C) 4123 (D) 2143
®im
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130. Jfc

OROJsRl=)

Hrermiw @ fora et sFfm Sige ™ s1fed T SR, 3161 %I Sesi

BIRATIA! BT ?

(A) 1423 (B) 2134

(C) 4123 (D) 2143
130. e HAihs

OROuthl=)

I ITh! el g5 Y3l § SHafera feram STraT B, at shH BT —

(A) 1423 B) 2134
(C) 4123 (D) 2143

130. If the figures

OEOJsRl=)

are arranged in their increasing number of sides, then the sequence would be

(A) 1423 (B) 2134
(C) 4123 (D) 2143
OF{0)
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131.

131.

131.

131.

131.

THI T 312212 o7 #24e19 § D! elfogio i< wiif<e 2
2, 3), (4, 5), (6, 7), $, (10, 13)

@A) 8 11) B 3,9
©) (1,8) D) (7, 11)

@ R4t (el $ 97 R[S PIE 2

2, 3), 4,5),(6,17),83, (10, 13)

A) (8, 11) B 8,9
© (1,8 D) (7,11)
o IR SR $ e gierE 7

(2, 3), (4, 5), (6,7, $, (10, 13)
A) (8,11 B) 3,9
© (7.9 D) (7,11)

AT 61 i S TS b1 $ % T T ey sEm =y ?

(2,3), (4, 5),(6,7),$, (10, 13)

A4) 8,11 B) 8,9
© (7.9 D) (7,11)
Which pair of numbers should replace $ in

2, 3), (4,5),(6,7),$, (10, 13) ?

@) (8,11 B) (8,9
© (7,9 D) (7, 11)
E5E
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132. NG S (FICG! LT ST 2
(3,7, 15, 33, 63)
(A) 33 B) 15
(C) 7 (D) 63
132. T Fibe F2yiesfer S (i sz 2
(3,7, 15, 33, 63)
(A) 33 B) 15
(C) 7 (D) 63
132. (3, 7, 15, 33, 63) ATNSE UHR el SRR 76 77 ?
(A) 33 (B) 15
<€ 7 D) 63
132. frAferiga @ @ i & @ 31gen (3, 7, 15, 33, 63) H g TE 8 ?
(A) 33 (B) 15
© 7 D) 63
132. Which of the following numbers is not correct in the sequence (3, 7, 15, 33,
63) ?
(A) 33 B) 15
(C) 7 (D) 63
133. TAl9lCeTed BTN Sl SRR SIS, S, (vi12d, I SIF P ARG JAFC (7112,
R, A<, AP S Se] HHCPLOIT O 27 | NN THRS (@FICT e I ©fS
PRI AT, (S0 (98 (12012 % (bl 2
(A) TIRg (B) S
(C) rL D) &=
133. TOMOIETITST TR S SRR <2<, @, SE, AoP @R SAFH *HefeTs A
S, ISP, I, P 3R T T 27 | A @2 oAl «IRme FHCo 0T s
W S@ (T BI3E ?
(A) e (B) S
(C) oM™ D) &l
OFD
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133.

133.

133.

TRTIIUE SRATSTTR 9T 7d, 959, <, 91, S’ 3R 3T AkahRE! i g™ Sl
AR, 91, §gH, W AW ¢ | Ife T8 THHAST TGV 376 gae el 3T S8/ ¢
TS HIAT, S Feif 9E i ?

(A) & (B) i

(C) Wn D) <

TRTCIS <hl T HTST o STTHR G2aft, S, ThTeT, 91 ST STThTST o 16G SHHST: Yehrs, 9TY,
goal, SATHTY TR A & | 3T IS TIMCIS 1T TR &7 =11 81 ST, 6 98 I FA 7

(A) TP (B) AP

(C) 7 (D) S

As per the local language of Gogaland, the words for earth, water, light, air
and sky are the light, air, earth, sky and water respectively. If one visits

Gogaland and gets thirsty there, what would he ask for ?

(A) Light (B) Sky
(C) Air (D) Water
134. TyafeI® FoPTI=T (FRUG! I wifse 2
(A) B3R B) T : I
(C) =% : SBRE (D) oIfzf< : srefet
134. 903 Sr@fee (wviefm @R symed SorEie 2
@) 1% T (B) TP : FIEH T
(C) el : I (D) < : &Y

134. §9 SCRT MR ST A1El ?

(A) TE ;T FEn (B) dmr: §mwrta

(C) I3 : Wig WA (D) 3UH: &

5=

= E
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134. frfafaa # @ = @1 3 7ota gafaa &

134.

A) Tafsan . sgen (B) %l : et (PR
(C) el : gguret (D) g3 : wie

Which of the following pairs is incorrectly matched ?

(A) Birds: Nest (B) Dogs : Kennel
(C) Horse : Stable (D) Pigs: Den

135, FTHTIRS WRYEIICE! S9=GIE =G #9ad] Bie 6 w23 1o 2

135.

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE
(C) EFGE (D) EGFE
RINHCE TS FICS AITOITS Pl S ?

ACRA, BDSB, CETC, DFUD, ?
(A) EGVE (B) EVGE
(C) EFGE (D) EGFE

135. BRI ®IE WREETS AT ITARIE |1 Bl I ?

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
135. @A S TG % [T 370 T 3T =10-Y 7

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
135. What should come next to continue the series :

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
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